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PROFESSIONAL EXAMINATION BOARD
Group 2 Lab Technician 2015

HSC 18th Oct 2015, 02:00 PM
Topic:­ General Knowledge 
1)

Question Stimulus :­

Madhya Pradesh was formed on the recommendation of:

मⰀ戄य 찄दशे का गठन 耂कसक鋼ᘂ अनशुसंा पर हआु था ?

Pandit Nehru / प耂ंडत नहे㠅

Sardar Patel / सरदार पटले

State Reorganization Commission / राȅय पनु᣽�गठन  आयोग

State Disintegration Commission / राȅय 耂वघटन आयोग

Correct Answer :­State Reorganization Commission / राȅय पनु᣽�गठन  आयोग 

2)

Question Stimulus :­

Mark the correct statement about freedom fighters from Madhya Pradesh?

मⰀ戄य 찄दश के 頄वत阄ंा स鐅ंाम सनेा耂नय쿾ᘂ के सबंⰄध म鯼� सह鋽ᘂ कथन कौन सा ह?ै

Kunwar Chain Singh was the first martyr of battle of freedom./

頄वत阄ंा स鐅ंाम के पहल ेशह鋽ᘂद कुंवर चनै耂सह ंथ।े

Rani Avanti Bai of Ramgarh, fought along Mandla army./

रामगढ़ क鋼ᘂ रानी अवतंी बाई मडंला क鋼ᘂ सनेा के साथ लड़ी थी।

Sindhiya of Gwalior and Nawab of Bhopal fought against British during 1857./

쀃वा耂लयर के 耂स耂ंधया और भोपाल के नवाब अ鐅ंजे쿾ᘂ के 耂व頄氅 1857 म鯼� लड़ ेथ।े

All of the above. /

उपरोȅत सभी।
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Correct Answer :­All of the above. / उपरोȅत सभी। 

3)

Question Stimulus :­

Pranahita is famous as:

찄ाण耂हता इस耂लए 찄耂स氅 ह?ै

A waterfall in Jabalpur./

जबलपरु का एक जल찄पात

Power project on the Chambal river./

जबलपरु का एक जल찄पात

Junction of Vardha and waniganga rivers./

वधा᣽� एव ंवनैी गगंा न耂दय쿾ᘂ का सगंम

Old name of kshipra river./

耂छपरा नद鋽ᘂ का 찄ाचील नाम

Correct Answer :­Junction of Vardha and waniganga rivers./ वधा᣽� एव ंवनैी गगंा न耂दय쿾ᘂ का सगंम 

4)

Question Stimulus :­

Madhya Pradesh Nagar Palika Nigam Act 1944 was passed to enforce?

मⰀ戄य 찄दशे नगर पा耂लका अ耂ध耂नयम 1944 ȅया लाग ूकरन ेके 耂लए पा耂रत ्耂कया गया था?

73rd constitutional amendment act./

स耂ंवधान का 73 वा ंससंोधन

74th constitutional amendment act./

स耂ंवधान का 74 वा ंससंोधन

To promote girl’s education. 72nd constitutional amendment act./

लड़耂कय쿾ᘂ क鋼ᘂ 耂श☀分ा को बड़ान ेके 耂लए स耂ंवधान का 72 वा ंससंोधन
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None of these. /

उपरोȅत म鯼� स ेकोई नह鋽ᘂ

Correct Answer :­

74th constitutional amendment act./ स耂ंवधान का 74 वा ंससंोधन 

5)

Question Stimulus :­

Mark the correct statement about the Governor of a State:

(a)   He is appointed by the President of India.

(b)   Current Governor of MP is Mr. Ram Naresh Yadav.

(c)   Minimum age qualification is 35 years.

耂कसी राȅय के राȅयपाल के सदंभ᣽� म鯼� सह鋽ᘂ कथन कौन सा ह?ै

(a) उनक鋼ᘂ 耂नयȅुत भारत के रा调頄प耂त 頄वारा क鋼ᘂ जाती ह짻�

(b) मⰀ戄य 찄दषे के वत᣽�मान राȅयपाल 퇿ꈅी रामनरशे यादव है

(c) Ⰴयनूतम उ� 35 वष᣽� है

a & b

b & c

a & c

a, b & c

Correct Answer :­a, b & c 

6)

Question Stimulus :­

Laadli Lakshmi Scheme benefits are:

लाडल鋽ᘂ ल☀찄मी योजना के लाभ:

Limited to 2 girl children only./

दो लड़耂कय쿾ᘂ तक सी耂मत है
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Limited to 3 girl  children only./

तीन लड़耂कय쿾ᘂ तक सी耂मत है

Limited to 1 girl children only./

एक  लड़耂कय쿾ᘂ तक सी耂मत है

Limited to 4 girl child.

चार लड़耂कय쿾ᘂ तक सी耂मत है

Correct Answer :­

Limited to 2 girl children only./ दो लड़耂कय쿾ᘂ तक सी耂मत ह ै

7)

Question Stimulus :­

Madhya Pradesh’s first Wildlife Awareness Centre is at:

मⰀ戄य 찄दशे का पहला वⰄय जीवन जाग㠅कता केⰄ頄 कहा ँि頄थत ह?ै

Chhindwara./ 耂छदंवाड़ा

Ralamandal, Indore./ रालामडंल, इदंौर

Bohani, Narshingpur./ बोहानी, नर耂सहपंरु

Khamariya, Jabalpur./ खम耂रया, जबलपरु

Correct Answer :­

Ralamandal, Indore./ रालामडंल, इदंौर 

8)

Question Stimulus :­

What are the features of the Vindyachal Super Thermal Power Station?

(a)   Stationed at Vindhya Nagar, Singrauli, Madhya Pradesh.

(b)   It comes under Super Thermal Power stations series.

(c)   Manufactured by NTPC.

耂वⰀ戄याचल सपुर 耂व頄यतु ताप सयं阄 क鋼ᘂ ख耂ूबया ंȅया ह짻�?
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(a) 耂वⰀ戄यानगर, 耂सगरंोल鋽ᘂ, मⰀ戄य 찄दषे म鯼� ि頄थत है

(b) यह सपुर 耂व頄यतु तापगहृ쿾ᘂ क鋼ᘂ 퇿ꈅखंला का 耂ह頄सा है

(c) NTPC 頄वारा उ萃पा耂दत है

a & b

a & c

b & c

a, b & c

Correct Answer :­a & b 

9)

Question Stimulus :­

Cabinet Committee on Economic Affairs (CCEA) approved Intrastate Transmission System in 7
states. Which of these states comes under this?

आ耂थ᣽�क मामल쿾ᘂ क鋼ᘂ के耂बनटे स耂म耂त न ेअतंरराजीय पारषेण 찄णाल鋽ᘂ का अनमुोदन साथ राȅय쿾ᘂ के 耂लए 耂कया ह।ै कोन से
राȅय इसके अⰄतरगत आत ेह짻�?

Assam./ असम

Madhya Pradesh / मⰀ戄य 찄दशे

Kerala./ केरल

Manipur./ म耂नपरु

Correct Answer :­Madhya Pradesh / मⰀ戄य 찄दशे 

10)

Question Stimulus :­

Rakesh Sahni has been appointed as the chairman of?

राकेश साहनी को 耂कस का अⰀ戄य☀分 耂नयȅुत 耂कया गया ह?ै

MP Electricity Regulatory Commission./

मⰀ戄य 찄दशे 耂व頄यतु 耂नयामक आयोग
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B.H.E.L./

बी. एच. ई. एल.

Narmada Valley Development Authority./

नम᣽�दा वलै鋽ᘂ 耂वकाश 찄ा耂धकरण

NTPC.

एन.ट鋽ᘂ. पी. सी.

Correct Answer :­Narmada Valley Development Authority./ नम᣽�दा वलै鋽ᘂ 耂वकाश 찄ा耂धकरण 

Topic:­ General Maths
1)

Question Stimulus :­

By selling 8 bananas, a fruit seller gains an amount equal to the selling price of 1 banana. Calculate
his gain percent.

एक फल 耂व䈆ेता 8 केल ेबचेकर एक केल ेका 耂व䈆य म頄ूय लाभ म鯼� 찄ा调त करता ह।ै उसके लाभ 찄耂तशत क鋼ᘂ गणना
क鋼ᘂिजए।

15 % / 15 찄耂तशत

14 % / 14 찄耂तशत

16 % /  찄耂तशत

None of these./ इनम ेस ेकोई नह鋽ᘂ

Correct Answer :­14 % / 14 찄耂तशत 

2)

Question Stimulus :­

The price of petrol falls down by 20%. By how much percent must a man increase his
consumption, so as to keep his expenditure constant?

प頄ेोल के दाम 20 찄耂तशत स ेकम हो जाताह।ैएक 调यिȅत को अपनी खच᣽� सामान रखन ेके 耂लए खपत को 耂कतना
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찄耂तशत बढ़ाना चा耂हए?

42%

25%

20%

10%

Correct Answer :­25% 

3)

Question Stimulus :­

A sum of money doubles in 10 years. In how many years will it become four times at the same rate
of simple interest?

एक रा耂श10 वष濾ᘂ म鯼� दोगनुी हो जाती ह।ै साधारण 调याज क鋼ᘂ समान दर स े耂कतन ेवष濾ᘂ म鯼� 4 गनुी हो जाएगी?

30 years / 30 वष᣽�

50 years / 50 वष᣽�

20 years / 20 वष᣽�

25 years / 25 वष᣽�

Correct Answer :­30 years / 30 वष᣽� 

4)

Question Stimulus :­

In what ratio should water be mixed with wine, that costs Rs.60 per litre, so that the price ofthe
resultant mixture is Rs.40 per litre?

耂कस अनपुात म鯼� पानी को 60 頄 찄耂त ल鋽ᘂटर क鋼ᘂ शराब के साथ 耂मलाया जाए ता耂क 耂म퇿ꈅण का म頄ूय 40 頄 찄耂त ल鋽ᘂटर
हो जाए?

2 : 3

4 : 5

3 : 4

1 : 2
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Correct Answer :­1 : 2 

5)

Question Stimulus :­

16 litres of kerosene is mixed with 5 litres of petrol. The price of kerosene is Rs. 12 per litre and
price of petrol is Rs. 33 per litre. The average price of the resultant mixture per litre is? (In rupees)

16 ल鋽ᘂटर केरोसीन को 5 ल鋽ᘂटर प頄ेोल के साथ 耂मलाया गया। केरोसीन का म頄ूय 12 頄 찄耂त ल鋽ᘂटर और प頄ेोल का
म頄ूय 33 頄 찄耂त ल鋽ᘂटर ह।ै 耂म퇿ꈅण का औसत म頄ूय 찄耂त ल鋽ᘂटर होगा? (頄पय ेम鯼� )

15

17

21

23

Correct Answer :­17 

6)

Question Stimulus :­

3 years ago the average age of Sonam’s family, consisting of 5 members,was 35 years. Last year a
child was born in this family. What will be the average age of this family three years from now? (In
years)

तीन वष᣽� पहल ेसोनम के पाचँ सद頄यीय प耂रवार क鋼ᘂ औसत आय ु35 वष᣽� थी। एक साल पहल ेइस प耂रवार म鯼� एक नये
ब戄च ेका जⰄम हआु। तीन वष᣽� प⠀쀃चात ्इस प耂रवार क鋼ᘂ औसत आय ुȅया होगी? (वष᣽� म짻�)

36

34  

35  

None of these/ इनम鯼� स ेकोई नह鋽ᘂ

Correct Answer :­34   

7)

Question Stimulus :­

In a kilometer race, A can beat B by 100 m and B can beat C by 80 m. If A and C run in the same
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race, by how many meters will A win?

1 耂कलोमीटर क鋼ᘂ दौड़ म鯼� A, B, को 100 मीटर स ेहरा सकता हऔैर B, C को 80 मीटर स ेहरा सकता ह,ैय耂द A और
C उसी दौड़ म ेदौड़鯼�ग ेतो A, C को 耂कतन ेमीटर स ेहरायगेा?

172

178

220

200

Correct Answer :­172 

8)

Question Stimulus :­

16 workers working 6 hours day can build a wall of length 150 meters, breadth 20 meters, and
height 12 meters in 25 days. In how many days 12 workers, working 8 hours a day will build a wall
of length 800 m, breadth 15m and height 6 meters?

16 लोग 6 घटं े찄耂त耂दन काम करके एक 150 मीटर लबंी, 20 मीटर चड़ैी और 12 मीटर ऊँची द鋽ᘂवार को 25 耂दन म鯼�
बना सकत ेह짻�। 12 लोग 8 घटं鯼� 찄耂त耂दन काम करके 800 मीटर लबंी, 15 मीटर चड़ैी और 6 मीटर ऊँची द鋽ᘂवार 耂कतने
耂दन म鯼� बना सकत ेह짻�?

50 days/ 50 耂दन

25 days/ 25 耂दन

100 days/ 100 耂दन

60 days/ 60 耂दन

Correct Answer :­50 days/ 50 耂दन 

9)

Question Stimulus :­

In how many ways can 5 prizes be given away to 7 boys when each boy is eligible for all the prizes?

5 पा耂रतोषक鋼ᘂ को 7 लड़क쿾ᘂ को 耂कतन ेतरह स े耂दया जा सकता हजैब찄萃यके लड़का सार ेपा耂रतोषक鋼ᘂ को पान ेके 耂लए
यो쀃य ह짻�?

5!
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7!

Correct Answer :­  

10)

Question Stimulus :­

What is the sum of first 10 prime numbers?

찄थम 10 अभाȅय स氅ंयाओ का योग ȅया ह?ै

Even/सम

Odd /  耂वषम

Can’t say  /  कह नह鋽ᘂ सकते

None of these  /  इनम鯼� स ेकोई नह鋽ᘂ

Correct Answer :­Odd /  耂वषम 

11)

Question Stimulus :­

How many possible pairs of numbers exist whose product is 5400 and HCF is 30.

 ऐस े耂कतन ेस氅ंयाओ ंके य쀃ुम सभंव ह ैिजनका गणुनफल 5400 और मह萃तम समापवत᣽�क 30 हो?

1

2

3

4

Correct Answer :­2 

12)

Question Stimulus :­

A two digit number is such that the product of its digits is 12. When 36 is added to the number, its
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digits are reversed. Find the number.

एक दो अकंो क鋼ᘂ स氅ंया के अकंो का गणुनफल 12 ह।ै य耂द स氅ंया म鯼� 36 जोड़ा जाय तो उसके अकं उलट जाते
ह짻�,स氅ंया 栆ात क鋼ᘂिजय।े

62

54

45

26

Correct Answer :­26 

13)

Question Stimulus :­

Three years ago, X’s age was 2 times as that of Y’s. Seven years hence, the sum of their ages will be
83 years. What is the age of X today?

 तीन वष᣽� पवू᣽� X क鋼ᘂ आय ुY क鋼ᘂ आय ुस ेदोगनुी थी, 7 वष郾ᘂ के बाद उनक鋼ᘂ आय ुका योग 83 वष᣽� होगा। X क鋼ᘂ
वत᣽�मान आय ुȅया ह?ै

47 years/ 47 वष᣽�

35 years/ 35 वष᣽�

45 years/ 45 वष᣽�

26 years/ 26 वष᣽�

Correct Answer :­45 years/ 45 वष᣽� 

14)

Question Stimulus :­

Following Graph shows the number of students, who qualified in an examination, of three different
schools, in 5 different years? What is the ratio between the number of students who qualified in the
exam from school C in 2014 and the number of candidates who qualified in the exam from school
A in 2013?
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鐅ाफ पाचँ वष濾ᘂ म鯼� तीन 耂व頄यालय쿾ᘂ के उ萃तीण᣽� छा阄쿾ᘂ क鋼ᘂ स氅ंया को दशा᣽�ता ह।ै 2014 म鯼� 耂व頄यालय C स ेउ萃तीण᣽�
छा阄쿾ᘂ क鋼ᘂ स氅ंया एव ं2012 म鯼� 耂व頄यालय A स ेउ萃तीण᣽� छा阄쿾ᘂ क鋼ᘂ स氅ंया का अनपुात 栆ात कर鯼�।

Correct Answer :­  

15)

Question Stimulus :­

This question is followed by two statements A and B. Indicate your responses based on the given
choices?

 

If a, b and c are three consecutive prime numbers. Is ‘a’ an even number?

Statement A: ab + bc is an even number.

Statement B: abc + bca is an even number.

 

इस 찄⠀쀃न म鯼� 찄⠀쀃न के बाद दो कथन A और B 耂दय ेहएु ह짻�। अपनी 찄耂त耂䈆या को 耂दय ेहएु 耂वक頄पो के आधार पर
अ耂ंकत कर鯼�?
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य耂द a, b, और c तीन लगातार अभाȅय स氅ंयाए ंह짻�। ȅया 'a' सम स氅ंया ह?ै

कथन A :  ab + bc एक सम स氅ंया ह।ै

कथन B : abc + bca एक सम स氅ंया ह।ै

If a question can be answered using statement A alone but not by using statement B alone/

य耂द 찄⠀쀃न का उ萃तर केवल कथन A के उपयोग स े耂दया जा सके परⰄत ुकथन B के उपयोग स ेनह鋽ᘂ।ं

If a question can be answered using statement B alone but not by using statement A alone/

य耂द 찄⠀쀃न का उ萃तर केवल कथन B के उपयोग स े耂दया जा सके परⰄत ुकथन A के उपयोग स ेनह鋽ᘂ।ं

If the question can be answered using statement A and statement B together but not by using
either statement A or statement B alone/

य耂द 찄⠀쀃न का उ萃तर कथन A और कथन B के एक साथ उपयोग स े耂दया जा सके परⰄत ु耂कसी भी एक
कथन A या B के उपयोग स ेनह鋽ᘂ।ं

If the question cannot be answered even by using statement A and statement B together/

य耂द 찄⠀쀃न का उ萃तर दोनो कथनो A और Bके एक साथ उपयोग स ेभी न 耂दया जा सक鯼�।

Correct Answer :­If a question can be answered using statement A alone but not by using
statement B alone/ य耂द 찄⠀쀃न का उ萃तर केवल कथन A के उपयोग स े耂दया जा सके परⰄत ुकथन B के
उपयोग स ेनह鋽ᘂ।ं 

Topic:­ General Science
1)

Question Stimulus :­

Small pieces of solid matter which are found scattered in the inter­planetary space of the solar
system are known as:

सौर 찄णाल鋽ᘂ के अतंर­鐅ह鋽ᘂय म鯼� इधर­उधर फैल ेहएु ठोस पदाथ濾ᘂ के छोट ेटुकड़ ेइनम鯼� स े耂कस नाम स ेजान ेजात ेह짻�:  

 Asteroids/ ☀分頄ु 鐅ह

Meteoroids/ उ頄का 耂पडं

Comet/ धमूकेतू

Satellites/ उप鐅ह
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Correct Answer :­Meteoroids/ उ頄का 耂पडं 

2)

Question Stimulus :­

The different colours of different stars are due to the variation of?

 耂व耂भⰄन तार쿾ᘂ के 耂भⰄन 耂भⰄन रगं 耂न頄न耂ल耂खत म鯼� स े耂कसम鯼� 耂वचलन के कारण होत ेह짻�:

Pressure/ दबाव

Temperature/ तापमान

 Pressure and temperature/ दबाव और तापमान

Surface reactions/ सतह 찄耂त耂䈆या

Correct Answer :­Temperature/ तापमान 

3)

Question Stimulus :­

Water is used to cool the engines of cars, buses, trucks, etc. It is because water has?

 पानी का 찄योग कार쿾ᘂ, बस쿾ᘂ, 頄क쿾ᘂ के इजंन को ठंडा करन ेके 耂लए 耂कया जाता ह।ै ऐसा इस耂लए 耂कया जाता है
ȅय쿾ᘂ耂क पानी का

Low specific heat/ 耂न頄न 耂व耂श调ट ताप होता है

High specific heat/ उ戄च 耂व耂श调ट ताप होता है

Low viscosity/ 耂न頄न ⠀쀃यानता होती है

High viscosity/ उ戄च ⠀쀃यानता होती है

Correct Answer :­High specific heat/ उ戄च 耂व耂श调ट ताप होता ह ै

4)

Question Stimulus :­

Which instrument is used to measure speed of the vehicle?

 वाहन क鋼ᘂ ग耂त क鋼ᘂ माप करन ेके 耂लए 耂कस उपकरण का 찄योग 耂कया जाता ह?ै
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Stroboscope/ 頄頄ोबो頄कोप

 Streoscope/ 頄頄येो頄कोब

Speedometer/ 頄पीडोमीटर

Tachometre/ टकेोमीटर

Correct Answer :­Speedometer/ 頄पीडोमीटर 

5)

Question Stimulus :­

What is the name of alcohol obtained in the saponification process?

 सपैोनी耂फकेशन 찄耂䈆या म鯼� कौन सा अ頄कोहल 찄ा调त 耂कया जाता ह:ै

Easter/ ई頄टर

Glycerol/ 쀃लाईसरेोल

Acetone/ ए耂सटोन

Mortar/ मोटा᣽�र

Correct Answer :­Glycerol/ 쀃लाईसरेोल 

6)

Question Stimulus :­

What is the chemical name of vitamin B1?

 耂वटा耂मन B1 का रासाय耂नक नाम ȅया ह?ै

Retionol/ र耂ेटयोनोल

 Riboflavin/ 耂रबोȅला耂वन

Thiamine/ 耂थयामाइन

Ascorbic acid/ एसको耂ब᣽�क ए耂सड

Correct Answer :­Thiamine/ 耂थयामाइन 

7)
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Question Stimulus :­

Which of the following below are the Alloys of solder?

耂न頄न耂ल耂खत म鯼� ȅया सो頄डर का 耂म퇿ꈅ धात ु ह?ै

Tin and lead/ 耂टन तथा लडै

Iron and nickel/ लौह और 耂नकल

Copper and zinc/ कॉपर और िजकं

Copper and tin/ कॉपर और 耂टन

Correct Answer :­Tin and lead/ 耂टन तथा लडै 

8)

Question Stimulus :­

Which principle or law states that in an unexcited atom, electrons reside in the lowest energy
orbitals available to them?

 耂कस 耂स氅ाⰄत और 耂नयम म鯼� यह उ頄ल耂ेखत ह ै耂क 耂कसी 耂नि调䈆य परमाण ुम鯼�, इलȅे頄ॉⰄस उनके 耂लए उपल调ध
सबस ेⰄयनूतम ऊजा᣽� आ耂ब᣽�ट頄स म鯼� रहत ेह짻�:

Aufbau principle/ औफबाऊ 耂स氅ाⰄत

Archimede's principle/ आक鋼ᘂमी耂डज़ 耂स氅ाⰄत

Boyles's Law/ बोएलज़े 耂नयम

 Avogadro's Law/ एबोगादरो 耂नयम

Correct Answer :­Aufbau principle/ औफबाऊ 耂स氅ाⰄत 

9)

Question Stimulus :­

The method of concentrating the ore which makes use of the difference in density between ore and
impurities is called?

 अय頄क के सकंेⰄ頄ण क鋼ᘂ 耂व耂ध, जो अय頄क तथा अश耂ु氅य쿾ᘂ के बीच म鯼� अतंर का 찄योग करती ह,ै उस े耂न頄न耂ल耂खत
म鯼� स ेȅया कहा जाता ह:ै

 Liquation/ 耂लकेशन
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Leaching/ ल鋽ᘂ耂चगं

Levigation/ ल耂ेवगशेन

Magnetic separation/ चुंबक鋼ᘂय पथृȅकरण

Correct Answer :­Levigation/ ल耂ेवगशेन 

10)

Question Stimulus :­

To manufacture vanaspati from vegetable oil which gas is used?

 वजेटेबेल आयल स ेवन頄प耂त बनान ेके 耂लए 耂कस गसै का 찄योग 耂कया जाता ह?ै

Hydrogen/ हाई戄ोजन

Oxygen/ आȅसीजन

Nitrogen/ नाइ頄ोजन

Carbon dioxide/ काब᣽�न डाइआȅसाइड

Correct Answer :­Hydrogen/ हाई戄ोजन 

11)

Question Stimulus :­

Which one of the statements given below is/are correct with respect to Tapeworm?

नीच े耂दए गए वȅत调य쿾ᘂ म ेस ेकौन सा वȅत调य फ鋼ᘂताकृ耂मय쿾ᘂ के सबंधं म鯼� सह鋽ᘂ ह?ै

A. They are intestinal parasites/ य ेआ阄ंीय परजीवी होत ेह짻�।

B. They survives within the intestines of animals including humans/ य ेमानव쿾ᘂ स耂हत पशओु ंक鋼ᘂ आतं쿾ᘂ के
भीतर जी耂वत रहत ेह짻�।

C. They survives within the intestines of animals excluding humans/ य ेमानव쿾ᘂ के अलावा पशओु ंक鋼ᘂ
आतं쿾ᘂ म鯼� जी耂वत रहत ेह짻�

A and B

A and C
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Only A

A, B and C

Correct Answer :­A and B 

12)

Question Stimulus :­

Tetanus is caused by which of the following?

 इनम鯼� स े耂कसके कारण टटेनस होता ह?ै

Clostridium tetani/ ȅलोि頄頄耂डयम टटेनेी

Mycobacterium/ माइकोबिैȅट耂रयम

Mycobacterium leprae/ माइकोबिैȅट耂रयम लपेरईे

Vibrio cholarae/ 耂व耂찄यो कोलारईे

Correct Answer :­Clostridium tetani/ ȅलोि頄頄耂डयम टटेनेी 

13)

Question Stimulus :­

Antiflatulent is used as?

 उदर-वाय ुरोधी का 찄योग 耂कस 㠅प म鯼� 耂कया जाता ह:ै

Drug that induces insensitivity to pain/ दवा जो पीड़ा के 찄耂त सवंदेनह鋽ᘂनता को उ萃찄耂ेरत करती है

 Drug that reduces intestinal gas/ दवा जो आतं쿾ᘂ क鋼ᘂ गसै को कम करती है

A drug used to lower body temperature/ शर鋽ᘂर का तापमान कम करन ेके 耂लए 찄योग क鋼ᘂ गई दवा

Drug that is used to prevent pain/ दवा िजसका 찄योग पीड़ा क鋼ᘂ रोकथाम के 耂लए 耂कया जाता है

Correct Answer :­ Drug that reduces intestinal gas/ दवा जो आतं쿾ᘂ क鋼ᘂ गसै को कम करती ह ै

14)

Question Stimulus :­

Which is the best food source for sodium?
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 सो耂डयम के 耂लए सबस ेअ戄छा भोजन �ोत ȅया ह?ै

Salt/ नमक

Cereals/ अनाज

 Pulses/ दलहन

Vegetables/ सि调जयां

Correct Answer :­Salt/ नमक 

15)

Question Stimulus :­

Optical fiber works on the principle of?

आि调टकल फाइबर 耂कस 耂स氅ाⰄत के आधार पर काम करती ह ै?

 

Refraction of light/  찄काश का अपवत᣽�न

Reflection of light/ 찄काश का परावत᣽�न 

Total internal reflection of light/ 찄काश का पणू᣽� आतं耂रक परावत᣽�न 

Prism / 耂찄ȅम

Correct Answer :­Total internal reflection of light/ 찄काश का पणू᣽� आतं耂रक परावत᣽�न  

Topic:­ General Hindi
1)

Question Stimulus :­

‘耂कसी व頄त ुको 调यथ᣽� स頄भाल कर रखना’, इस उिȅत का 调यजंक ह-ै

आम के आम गठु耂लय쿾ᘂ के दाम

耂सर पर कफन बाधँना

शहद लगाकर चाटना

झासँा दनेा
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Correct Answer :­शहद लगाकर चाटना 

2)

Question Stimulus :­

श氅ु वाȅय का चयन क鋼ᘂिजय-े

इस प頄ुतक क鋼ᘂ यह鋽ᘂ 耂वशषेता ह।ै

इस प頄ुतक क鋼ᘂ यह鋽ᘂ अ戄छाई ह।ै

इस प頄ुतक क鋼ᘂ यह鋽ᘂ 耂वशषेता ह짻�।

इस प頄ुतक क鋼ᘂ यह鋽ᘂ नवीनता ह।ै

Correct Answer :­इस प頄ुतक क鋼ᘂ यह鋽ᘂ 耂वशषेता ह।ै 

3)

Question Stimulus :­

का调य शा頄阄 के अनसुार रस쿾ᘂ क鋼ᘂ स氅ंया ह ै-

आठ

नौ

दस

सात

Correct Answer :­नौ 

4)

Question Stimulus :­

दानी का 耂वलोम ह-ै

दनेदार

अदानी

कृपण

दाता
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Correct Answer :­कृपण 

5)

Question Stimulus :­

耂न頄न म鯼� स ेकौन सा श调द दोन쿾ᘂ वचन쿾ᘂ म鯼� 찄योग होता ह ै?

घटंा

लता

☀分मा

सकैड़ा

Correct Answer :­☀分मा 

6)

Question Stimulus :­

करण त萃प㠅ुष म鯼� 耂कस 耂चⰄह का लोप होता ह ै?

से

म鯼�

के 耂लए

का

Correct Answer :­स े

7)

Question Stimulus :­

श氅ु वत᣽�नी वाला श调द ह-ै

सीडी

सीड़ी

सीढ़鋽ᘂ

सीढ鋽ᘂ
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Correct Answer :­सीढ़鋽ᘂ 

8)

Question Stimulus :­

耂प頄ला 耂कस ेकहत ेह?ै

खरगोश का ब戄चा

मगुῡ怠 का ब戄चा

बकर鋽ᘂ का ब戄चा

कु萃त ेका ब戄चा

Correct Answer :­कु萃त ेका ब戄चा 

9)

Question Stimulus :­

अⰄवषेण का सिⰄध 耂व戄छदे होगा-

अन+वषेण

अन+ुएषण

अन+ुऐषण

अनव+एषण

Correct Answer :­अन+ुएषण 

10)

Question Stimulus :­

찄हार-प耂रहार य쀃ुम का सह鋽ᘂ अथ᣽� ह।ै

आ䈆मण- अपनाना

हमला- र☀分ा करना

मारना- 萃यागना

उ萃पीड़न - 찄耂त栆ा
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Correct Answer :­मारना- 萃यागना 

11)

Question Stimulus :­

मनोहर का सिⰄध 耂व戄छदे होगा।

मनो+हर

मनः+हर

मन+हर

मन+अहर

Correct Answer :­मनः+हर 

12)

Question Stimulus :­

‘बदंऊँ ग㠅ु पद कंज, कृपा 耂सⰄध ुनर 㠅प ह耂र

महा मोह तम पुंज, जास ुवचन र耂वकर 耂नकट’

उपरोȅत प頄य ह ै-

रोला

बरवै

सोरठा

दोहा

Correct Answer :­दोहा 

13)

Question Stimulus :­

कौन सा श调द हमशेा बहवुचन म짻� 찄यȅुत होता ह ै?

耂शशु

찄ाण
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भिȅत

उपय᣽ु�ȅत म鯼� स ेकोई नह鋽ᘂं

Correct Answer :­찄ाण 

14)

Question Stimulus :­

耂नयत-नीयत श调द य쀃ुम का सह鋽ᘂ अथ᣽� ह।ै

भा쀃य­ मनोभाव

सदाचार鋽ᘂ­ छलर耂हत

इरादा­भा쀃य

耂नि⠀쀃चत­ इरादा

Correct Answer :­耂नि⠀쀃चत­ इरादा 

15)

Question Stimulus :­

गोमय का तꈅव होगा–

गोधमू

गोबर

गहेूँ

गूँजना

Correct Answer :­गोबर 

Topic:­ General English
1)

Question Stimulus :­

DIRECTIONS: Choose the option that can be substituted for the given sentence.

The arrangement of events or dates in order of their occurrence.

Time table.
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History.

Chronology.

Systematization.

Correct Answer :­Chronology. 

2)

Question Stimulus :­

DIRECTIONS: Choose the option that can be substituted for the given sentence.

Primarily concerned with making money at the expense of ethics.

Mercenary.

Greed.

Gluttony.

Avarice.

Correct Answer :­Mercenary. 

3)

Question Stimulus :­

What will be the synonym of ‘Eradicate’?

Empty.

Radiate.

Vacate.

Remove.

Correct Answer :­Remove. 

4)

Question Stimulus :­

What will be the antonym of the word ‘Poverty’?

Misfortune.

 Adversity.

Prosperity.
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Misery.

Correct Answer :­Prosperity. 

5)

Question Stimulus :­

Choose the correct sentence out of the given sentences.

Majority are in favour of this proposal.

The committee are unanimous on this issue.

The average Hindu family in India consist of five members.

The speaker was not confident in his ability to deliver .

Correct Answer :­Majority are in favour of this proposal. 

6)

Question Stimulus :­

DIRECTIONS: In the following questions, four alternatives are given for the Idiom/Phrase printed in
italics. Choose the alternative which best expresses the meaning of the Idiom/Phrase.

Sherry never claimed that attempting all the questions in given time could be a piece of cake for
him.

something really tasty.

something easily achieved.

something achieved with greats efforts.

something as tasty as cake.

Correct Answer :­something easily achieved. 

7)

Question Stimulus :­

DIRECTIONS: In the following questions, four alternatives are given for the Idiom/Phrase printed in
italics. Choose the alternative which best expresses the meaning of the Idiom/Phrase.

If you need any kind of help, just give me a call. I will come at the drop of a hat.

at any time.

without informing.
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without delay.

as fast as a hat is dropped.

Correct Answer :­without delay. 

8)

Question Stimulus :­

DIRECTIONS: In the following questions groups of four words are given. In each group, one word is
correctly spelt. Find the correctly spelt word.

Find the correctly spelt word.

Beginning.

Begining.

Biginning.

Bigning.

Correct Answer :­Beginning. 

9)

Question Stimulus :­

DIRECTIONS: In the following questions four words are given. . Find the correctly spelt word.

 

Conscientious.

Consientious.

Conscienceous.

Conscientios.

Correct Answer :­Conscientious. 

10)

Question Stimulus :­

DIRECTIONS: Fill in the blank with correct preposition.

Mr. Derrick lives ____ Rohini ____ Delhi.

at, in
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in, at

 by, in

in, in

Correct Answer :­at, in 

11)

Question Stimulus :­

DIRECTIONS: Fill in the blank with correct preposition.

His doctor asked him to abstain ____ drinks.

of

from

by

with

Correct Answer :­from 

12)

Question Stimulus :­

DIRECTIONS: Out of the given options, which will be the correct passive form of the sentence?

Her mother is baking a cake.

A cake is baked by her mother.

A cake is being baked by her mother.

A cake was baked by her mother.

A cake was being baked by her mother.

Correct Answer :­A cake is being baked by her mother. 

13)

Question Stimulus :­

DIRECTIONS: Choose the correct articles.

Unemployment is ____ universal problem.

the
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a

an

 No article required.

Correct Answer :­a 

14)

Question Stimulus :­

DIRECTIONS: Choose the option that has the correct form of indirect speech.

Michael said, “I have passed the examination”.

Michael said that she had passed the examination.

 Michael said that she has passed the examination.

Michael said that she would pass the examination.

 Michael said that she would have passed the examination.

Correct Answer :­Michael said that she had passed the examination. 

15)

Question Stimulus :­

DIRECTIONS: Arrange the following options to get a meaningful paragraph.

(A) To be healthy we should refrain from excess in eating.

(B) Health is the most valuable of all earthly possessions.

(C) We should eat less and not devour whatever we get.

(D) Without it all the rest are worth nothing.

ACDB.

BDAC.

CDAB

BADC.

Correct Answer :­BDAC. 

Topic:­ General Computer Knowledge
1)
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Question Stimulus :­

What is the full form of EEPROM ?

 EEPROM का परूा नाम ȅया ह짻�

Easily Erasable Programmable Read Only Memory./ ईजल鋽ᘂ इरजेबेल 찄ो鐅ामबेल र鋽ᘂड आनल鋽ᘂ ममेोर鋽ᘂ

Electrically Erasable Programmable Read Only Memory./ इलिेȅ頄कल鋽ᘂ इरजेबेल 찄ो鐅ामबेल र鋽ᘂड आनल鋽ᘂ
ममेोर鋽ᘂ

Electronically Erasable Programmable Read Only Memory./ इलिेȅ頄ो耂नकल鋽ᘂ इरजेबेल 찄ो鐅ामबेल र鋽ᘂड
आनल鋽ᘂ ममेोर鋽ᘂ

Electrically Erasable Program Record Only Memory./ इलिेȅ頄कल鋽ᘂ इरजेबेल 찄ो鐅ाम 耂रकाड᣽� आनल鋽ᘂ ममेोर鋽ᘂ

Correct Answer :­Electrically Erasable Programmable Read Only Memory./ इलिेȅ頄कल鋽ᘂ इरजेबेल 찄ो鐅ामबेल
र鋽ᘂड आनल鋽ᘂ ममेोर鋽ᘂ 

2)

Question Stimulus :­

Every computer on the internet is identified by its _______________

इटंरनटे पर हर कं调यटूर क鋼ᘂ  _________ 頄वारा पहचान करत ेहै

Scanner./ 頄केनर

Mother board./ मदर बोड᣽�

IP Address./ आई. पी. एड᣽�स

Control Unit./ कं頄ोल य耂ूनट

Correct Answer :­IP Address./ आई. पी. एड᣽�स 

3)

Question Stimulus :­

The data recording format in most of the modern magnetic tape is__________

 आध耂ुनक म쀃ेन耂ेटक टपे म鯼� कौन सा डाटा 耂रका耂डगं फाम櫼�ट ह짻�?

7­bit ASCII.
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7­bit EBCDIC

8­bit ASCII

8­bit EBCDIC

Correct Answer :­8­bit EBCDIC 

4)

Question Stimulus :­

How many generations are there in computers?

क頄调यटूर को 耂कतनी पी耂ढ़य쿾ᘂ म ेवगῡ怠कृत 耂कया जा सकता ह?ै

2

3

5

4

Correct Answer :­5 

5)

Question Stimulus :­

_______is an input device which inputs sound that is then stored in digital form.

______ वह इनपटु 耂डवाइस ह ैजो 耂क Ⰰ戄व耂न इनपटु का 耂डिजटल 㠅प म鯼� भडंार करता ह।ै

Speaker./ 頄पीकर

Track ball./ 頄के बाल

Microphone./ माइ䈆ोफोन

Light pen./ लाइट पने

Correct Answer :­Microphone./ माइ䈆ोफोन 

6)

Question Stimulus :­

Which of the following unit is responsible for controlling the transfer of data and instructions among other
units of a computer?
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 耂न頄न耂ल耂खत इकाई क鋼ᘂ , जो एक कं调यटूर क鋼ᘂ अⰄय इकाइय쿾ᘂ के बीच डटेा और 耂नद櫼�श के ह頄तातंरण को 耂नय耂ं阄त
करन ेके 耂लए िज頄मदेार ह ै?

ALU

CU

MU

LU

Correct Answer :­CU 

7)

Question Stimulus :­

What is Access time in computer?

क頄调यटूर एȅससे टाइम ȅया ह짻�?

Seek time + latency time./

समय + 耂वलबंता समय क鋼ᘂ तलाश

Only Seek time/ केवल समय क鋼ᘂ तलाश

Only Latency time /केवल 耂वलबंता समय

Execution time + seek time/耂न调पादन समय + समय क鋼ᘂ तलाश

Correct Answer :­Seek time + latency time./ समय + 耂वलबंता समय क鋼ᘂ तलाश 

8)

Question Stimulus :­

____________ is a functional key used to display ‘save as’ box.

 सवे ­एज बाȅस को 耂ड頄调ल ेकरन ेके 耂लए ____________ बटन उपयोग 耂कया जाता ह?ै

F10

F12

F9    

F11

Correct Answer :­F12 



10/19/2015 localhost:61852

http://localhost:61852/ 33/84

9)

Question Stimulus :­

In MS Excel, by default the number  are ___________ Aligned.

एम एस एȅसले म鯼� , 耂डफ़ॉ頄ट 㠅प स ेनबंर ___________ गठबधंन कर रह ेह짻� ।

Left/ लȅेट

Right/ राइट

Justified/ ज頄ट鋽ᘂफ़ाइड

Center/ स鯼�टर

Correct Answer :­Right/ राइट 

10)

Question Stimulus :­

In M.S. Word, what is the use of “Alt + Shift + d”?

एम एस वड᣽� म鯼� “Alt + Shift + d”  उपयोग ȅया ह짻�?

Inserts a table./टबेल को इसंट᣽� करना

Inserts date./ इसंट᣽� डटे

Inserts the logo./ इसंट᣽� लोगो

Inserts  picture./

इसंट᣽� 耂पȅचर

Correct Answer :­Inserts date./ इसंट᣽� डटे 

11)

Question Stimulus :­

A byte represents a group of ________

 एक बाइट ________ के एक समहू का 찄耂त耂न耂ध萃व ह?ै

10 bits/10 耂बट
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5 bits/5 耂बट

8 bits/8 耂बट

4 bits/4 耂बट

Correct Answer :­8 bits/8 耂बट 

12)

Question Stimulus :­

Which shortcut key is used to minimize current workbook?

कौन सी शाट᣽�कट क鋼ᘂ करटं  वक᣽�बकु को 耂मनीमाइज करन ेके 耂लए उपयोग क鋼ᘂ जाती ह짻�

Ctrl + F10

Ctrl + F9

Ctrl + F12                        

Ctrl+F3

Correct Answer :­Ctrl + F9 

13)

Question Stimulus :­

What is of the following network device is used to join two network segments together?

 耂न頄न耂ल耂खत नटेवक᣽� 耂डवाइस म鯼� एक साथ दो नटेवक᣽� ☀分阄े쿾ᘂ म鯼� शा耂मल करन ेके 耂लए 찄योग 耂कया 耂डवाइस ȅया ह?ै

Bridge/ 耂찄ज

Repeater /耂र耂पटर

Firewall/फ़ायरवॉल

Bus/ बस

Correct Answer :­Bridge/ 耂찄ज 

14)

Question Stimulus :­

Which layer offers peer­to­peer and end­to­end connection between two processes on remote hosts?



10/19/2015 localhost:61852

http://localhost:61852/ 35/84

 दो 찄ोससेरो के बीच 耂रमोट हो頄ट पर कौन सी लयेर पीयर टू पीयरऔर एⰄड टू एⰄड कनȅेशन दतेी ह।ै

Application layer/एपल鋽ᘂकेशन लयेर

Data Link layer/ डाटा 耂लकं लयेर

Transport layer/ 頄ासंपोट᣽� लयेर

Physical Layer/耂फिजकल लयेर

Correct Answer :­Transport layer/ 頄ासंपोट᣽� लयेर 

15)

Question Stimulus :­

Which memory is faster than main memory?

 कौन सी ममैोर鋽ᘂ म氅ुय ममैोर鋽ᘂ स ेतजे ह?ै

Secondary memory/ सकेेⰄडर鋽ᘂ ममेोर鋽ᘂ

Cache memory/ कैच ममेोर鋽ᘂ

Both (a) and  (b)/ दोन쿾ᘂ (a) और (b)

Neither (a) nor  (b) /न (a) और न (b)

Correct Answer :­Cache memory/ कैच ममेोर鋽ᘂ 

Topic:­ Reasoning
1)

Question Stimulus :­

In the given question, two words are given such that they have a relation to each other followed by
four lettered pair of words. Select the lettered pair that has the same relationship as the original
pair of words.

Treason : Traitor  

耂दय ेहएु 찄⠀쀃 न म鯼� दो श调 द इस तरह स े耂दय ेहएु ह짻� 耂क उनम鯼� आपस म鯼� कुछ सबंधं ह।ै इसके बाद श调 द쿾ᘂ के चार य쀃ु म
耂दय ेगय ेह짻�। ऐसा श调 द य쀃ु म च耂ुनए िजनम鯼� वह鋽ᘂ सबंधं हो जो मलू श调 द य쀃ु म म鯼� ह।ै

दशे頄ोह : दशे頄ोह鋽ᘂ
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Islam : Muslim / इ頄 लाम : मिु頄लम

Crime : Criminal / अपराध : अपराधी

Jailor : Jail / कारापालः कारावास

Renegade : Religion / 耂व⠀쀃 वासघाती : धम᣽�

Correct Answer :­Crime : Criminal / अपराध : अपराधी 

2)

Question Stimulus :­

Identify the next term in the given series by understanding the pattern of the series.

3, 9, 21, 39, 63, 93, ?

 

द鋽ᘂ हईु 퇿ꈅणेी के 䈆म को समझकर अगला अकं पहचा耂नये

3, 9, 21, 39, 63, 93, ?

119

103

129

121

Correct Answer :­129 

3)

Question Stimulus :­

What will come next in the following series?

B, D, G, K, P, ?

 

耂न頄 न耂ल耂खत अ☀分र 퇿ꈅणेी म鯼� अगला अ☀分र ȅ या होगा?

B, D, G, K, P, ?

T
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V

S

R

Correct Answer :­V 

4)

Question Stimulus :­

In a  certain  code BREAKER  is written as DPGBMCT. How  is MOTHERS written  in  that  code
language?

 耂कसी कूट भाषा म鯼� BREAKER को DPGBMCT 耂लखा जाता ह।ै उसी कूट भाषा म鯼� MOTHERS को ȅ या
耂लखा जायगेा ?

OMVIGPU

UPGIVLO

SRETHOM

OMVIUPG

Correct Answer :­OMVIGPU 

5)

Question Stimulus :­

In a certain code, SEND is written as 2%*@ and DREAM is written as @ $ % # S how is MADE
written in that code?

耂कसी कूट भाषा म鯼� SEND को 2%*@ 耂लखत ेह ैऔर DREAM को @$%#5 耂लखत ेह।ै उसी कूट भाषा म鯼�
MADE को कैस े耂लख鯼�ग।े

5#@%

@$%5

5%#@

2@%$

Correct Answer :­5#@% 

6)

Question Stimulus :­
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Study the following arrangement and answer the question given below:

Z H 2 @ S U L 4 7 % N 3 K T # 1 F 9

Out of the given 4 options 3 are alike in a certain way based on their position in the given
arrangement and so form a group. Which is the one that does not belong to the group?

 

耂न頄 न耂ल耂खत 调यव頄था का सावधानी पवू᣽�क अⰀ戄 ययन कर鯼� और नीच े耂दए गय े찄⠀쀃 न का उ萃 तर द।े 

Z H 2 @ S U L 4 7 % N 3 K T # 1 F 9

耂दय ेगय े4 耂वक頄 प쿾ᘂ म鯼� स े3 द鋽ᘂ हईु 调 यव頄 था म鯼� 耂कसी 耂वशषे 㠅प स ेसमान ह짻� और इस तरह एक समहू बनात ेह짻�।
कौन सा एक 耂वक頄 प उस समहू स ेनह鋽ᘂ ह?ै  

K#7

T1%

U42

NKL

Correct Answer :­U42 

7)

Question Stimulus :­

S tudy the following arrangement and answer the question given below:

Z H 2 @ S U L 4 7 % N 3 K T # 1 F 4

How many such numbers are there in the arrangement which have symbols either immediately
preceding it or following it?

 

耂न頄 न耂ल耂खत 调यव頄था का सावधानी पवू᣽�क अⰀ戄 ययन कर鯼� और नीच े耂दए गय े찄⠀쀃 न का उ萃 तर द।े 

Z H 2 @ S U L 4 7 % N 3 K T # 1 F 4

调 यव頄 था म鯼� 耂कतन ेऐस ेअकं ह짻� िजनके तरुतं पहल ेया तरुतं बाद सकंेत ह?ै 

2

3

1
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None of these / इनम鯼� स ेकोई नह鋽ᘂ

Correct Answer :­3 

8)

Question Stimulus :­

S tudy the following arrangement and answer the question given below:

Z H 2 @ S U L 4 7 % N 3 K T # 1 F 4

Which of the following is the sixth to the left of eleventh from the right end?

 

耂न頄 न耂ल耂खत 调यव頄था का सावधानी पवू᣽�क अⰀ戄 ययन कर鯼� और नीच े耂दए गय े찄⠀쀃 न का उ萃 तर द।े 

Z H 2 @ S U L 4 7 % N 3 K T # 1 F 4

耂न頄 न耂ल耂खत म鯼� स ेकौन सा दाईँ ओर स े쀃 यारहव ेके बाईँ ओर छठवा ंह?ै

4

2

H

T

Correct Answer :­H 

9)

Question Stimulus :­

Study the following arrangement and answer the question given below:

Z H 2 @ S U L 4 7 % N 3 K T # 1 F 4

How many such symbols are present in the arrangement which are immediately preceded by a
number?

 

耂न頄 न耂ल耂खत 调यव頄था का सावधानी पवू᣽�क अⰀ戄 ययन कर鯼� और नीच े耂दए गय े찄⠀쀃 न का उ萃 तर द।े 

Z H 2 @ S U L 4 7 % N 3 K T # 1 F 4

 调 यव頄 था म ेऐस े耂कतन ेसकंेत ह짻� िजनके तरुतं पहल ेएक अकं ह।ै
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2

1

3

None of these / इनम鯼� स ेकोई नह鋽ᘂ

Correct Answer :­2 

10)

Question Stimulus :­

R is sister of S. S is brother of T.T is son of U. How is U related to R?

 

R, S क鋼ᘂ बहन ह।ै S,T का भाई ह।ै T, U का पञु ह।ै U का R स ेȅ या 耂र⠀쀃 ता ह?ै

Son/प阄ु

Daughter/प阄ुी

Mother or Father/ माता या 耂पता

Cousin/ किजन

Correct Answer :­Mother or Father/ माता या 耂पता 

11)

Question Stimulus :­

In the question below, there are two statements followed by conclusions numbered I, II, III and IV.
You have to take the given statements to be true even if they seem to be at variance with commonly
known facts and then decide which of the given conclusions logically follow(s) from the given
statements.

1.     Statements:

(A)  All trees are sharks.       

(B)   All sharks are balloons.

Conclusions:

I.     All sharks are balloons. 

II.    All balloons are trees.
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III.   Some trees are balloons.

IV.   No tree is a balloon.

 

 

नीच े耂दय ेगय े찄⠀쀃 न म鯼� A और B दो कथन ह짻� और उसके बाद I, II, III और IV  耂न调 कष᣽� 耂दय ेगय ेह짻�। आपको 耂दये
गए कथन쿾ᘂ को स萃 य मानना ह,ै भल ेह鋽ᘂ व े सव᣽�栆ात त㘀戄 य쿾ᘂ स े耂भⰄ न ह쿾ᘂ। सभी 耂न调 कष᣽� प耂ढ़य े耂फर तय क鋼ᘂिजए क鋼ᘂ
कौन सा तक᣽� 耂दए गय ेकथन쿾ᘂ का अनसुरण करता ह।ै

कथन:

 (A) सभी पड़े शाक᣽� ह짻�।      

(B)   सभी शाक᣽� ग调ु बार ेह짻�।

耂न调 कष᣽�:

I.     सभी शाक᣽� ग调ु बार ेह짻�।  

II.    सभी ग调ु बार ेपड़े ह짻�।

III.   कुछ पड़े ग调ु बार ेह짻�।

IV.       काई पड़े ग调ु बारा नह鋽ᘂ ह।ै

Only I & III follows/ केवल I और III अनसुरण करता ह।ै

Only II & III follow/ केवल II और III अनसुरण करता ह।ै

Only either I or III follows / केवल या तो I या III अनसुरण करता ह।ै

None of I, II, III and IV follows/ ना ह鋽ᘂ I, II, III और IV म鯼� स ेकोई अनसुरण करता ह।ै

Correct Answer :­Only I & III follows/ केवल I और III अनसुरण करता ह।ै 

12)

Question Stimulus :­

In the question below, there are two statements followed by conclusions numbered I, II, III and IV.
You have to take the given statements to be true even if they seem to be at variance with commonly
known facts and then decide which of the given conclusions logically follow(s) from the given
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statements.

 

Statements:

(A)  All google are cameras. 

(B)   Some cameras are watches.

Conclusions:

I.     Some cameras are google.                         

II.    No cameras is a google.

III.   Some watches are google.                         

IV.   All watches are google.

 

नीच े耂दय ेगय े찄⠀쀃 न म鯼� A और B दो कथन ह짻� और उसके बाद I, II, III और IV  耂न调 कष᣽� 耂दय ेगय ेह짻�। आपको 耂दये
गए कथन쿾ᘂ को स萃 य मानना ह,ै भल ेह鋽ᘂ व े सव᣽�栆ात त㘀戄 य쿾ᘂ स े耂भⰄ न ह쿾ᘂ। सभी 耂न调 कष᣽� प耂ढ़य े耂फर तय क鋼ᘂिजए क鋼ᘂ
कौन सा तक᣽� 耂दए गय ेकथन쿾ᘂ का अनसुरण करता ह।ै

कथन:

 (A) सभी गगूल कैमरा ह짻�।

(B)   कुछ कैमर ेघ耂ड़या ँह짻�।

耂न调 कष᣽�:

I.     कुछ कैमर ेगगूल ह짻�।   

II.    कोई कैमरा गगूल नह鋽ᘂ ह।ै

III.   कुछ घ耂ड़या ँगगूल ह짻�।

IV.       सभी घ耂ड़या ँगगूल ह짻�।

Only I and III follows/ केवल I और III अनसुरण करता ह।ै

Either I or II follows/ या तो I या II अनसुरण करता ह।ै 
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Either III or IV follows/ या तो III या IV  अनसुरण करता ह।ै 

Only I follows/ केवल I अनसुरण करता ह।ै

Correct Answer :­Only I follows/ केवल I अनसुरण करता ह।ै 

13)

Question Stimulus :­

In the question below, there are two statements followed by conclusions numbered I, II, III and IV.
You have to take the given statements to be true even if they seem to be at variance with commonly
known facts and then decide which of the given conclusions logically follow(s) from the given
statements.

Statements:

(A)  Some girls are bangles.  

(B)   Some bangles are pillows.

Conclusions:

I.     Some bangles are girls.  

II.    Some pillows are girls.

III.   Some girls are not pillows.                        

IV.   All pillows are girls.

 

नीच े耂दय ेगय े찄⠀쀃 न म鯼� दो कथन और उसके बाद I, II, III और IV  耂न调 कष᣽� 耂दय ेगय ेह짻�। आपको 耂दय ेगए कथन쿾ᘂ को
स萃 य मानना ह,ै भल ेह鋽ᘂ व े सव᣽�栆ात त㘀戄 य쿾ᘂ स े耂भⰄ न ह쿾ᘂ। सभी 耂न调 कष᣽� प耂ढ़य े耂फर तय क鋼ᘂिजए क鋼ᘂ 耂दए गय ेकथन쿾ᘂ
का तक᣽� सगंत 㠅प स ेअनसुरण करता ह।ै

कथन

(A) कुछ लड़耂कया ँच耂ूड़या ँह짻�।  

(B)   कुछ च耂ूड़या ँत耂कय ेह짻�।

耂न调 कष᣽�:

I.     कुछ च耂ूड़या ँलड़耂कया ँह짻�।  
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II.    कुछ त耂कय ेलड़耂कया ँह짻�।

III.   कुछ लड़耂कया ँत耂कया ँनह鋽ᘂ ंह।ै

IV. सभी त耂कय ेलड़耂कया ँह짻�।

Only I  follow/ केवल I अनसुरण करता ह।ै

Either II or III follows/ या तो II या III  अनसुरण करता ह।ै  .

Only either I or III follows. केवल या तो I या  III अनसुरण करता ह।ै

Only I & II follow / केवल I और II अनसुरण करता ह।ै

Correct Answer :­Only I  follow/ केवल I अनसुरण करता ह।ै 

14)

Question Stimulus :­

Suresh, a 7 year old kid, loves writing numbers. One day he sat down to write numbers from 1 to
100. How many times did he write 7?

एक 7 वषῡ怠य बालक सरुशे को स氅ं याऐ ं耂लखना पसदं ह।ै एक 耂दन वह 1 स े100 तक क鋼ᘂ स氅ं याऐ ं耂लखन ेबठैा तो
उसन ेअकं 7 耂कतनी  बार 耂लखा होगा?

11

18

20

21

Correct Answer :­20 

15)

Question Stimulus :­

An apartment has six floors, referred to as floors 1 to 6 with 1 being the lowest and 6 being the
highest. Six friends Lakhan, Manoj, Nandu, Ojas, Pankaj and Qatar occupy the six floors, not       
necessarily in the same order, with only one person living on one floor. Find below some additional
information on their stay in the apartment.

(i)      Nandu is same number of floors apart from Manoj as Manoj is from Lakhan.

(ii)     Pankaj and Qatar are not on adjacent floors.
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(iii)    Qatar is on a higher floor than Ojas.

(iv)  Lakhan is on the floor 5.

Which of the following must be true, if Nandu is on floor 1?

 

एक भवन म鯼� 1 स े 6 तक 6 तल ह짻� िजनम鯼� स े1 सबस े耂नचला और 6 सबस ेऊपर鋽ᘂ तल ह짻�। 6 दो頄 त लखन, मनोज,
नदं,ू ओजस, पकंज और कतार इन 6 तल쿾ᘂ पर रहत ेह,ै आव⠀쀃 यक नह鋽ᘂ 耂क इसी 䈆म म鯼� रहत ेहो। एक तल पर एक ह鋽ᘂ
调यिȅत रहता ह।ै उनके 耂नवास के बार ेम鯼� कुछ अ耂त耂रȅ त जानकार鋽ᘂ 耂न頄 न耂ल耂खत ह­ै

(i)      िजतना दरू लखन स ेमनोज रहता ह,ै उतना ह鋽ᘂ दरू मनोज स ेनदं ूरहता ह।ै

(ii)     पकंज और कतार लगातार तल쿾ᘂ पर नह鋽ᘂ रहत ेह짻�।

(iii)    कतार, ओजस स ेऊच ेतल पर रहता ह।ै

(iv)  लखन तल 䈆माकं 5 पर रहता ह।ै

य耂द नदं ूतल 䈆माकं 1 पर रहता ह,ै तो 耂न頄 न耂ल耂खत म鯼� स ेकोन सा 耂नि⠀쀃चत 頄प स ेसह鋽ᘂ ह?ै

Lakhan and Pankaj are on adjacent floors./ लखन ओर पकंल लगातार तल쿾ᘂ पर ह짻�।

Manoj and Pankaj are on adjacent floors./ मनोज ओर पकंज लगातार तल쿾ᘂ पर ह짻�।  

Ojas is on a floor higher than floor 2./ ओजस तल 䈆माकं 2 स ेऊचाई पर ह।ै

Qatar is on a floor higher than floor 3 / कतार तल 䈆माकं 3 स ेऊंचाई पर ह짻�।

Correct Answer :­Qatar is on a floor higher than floor 3 / कतार तल 䈆माकं 3 स ेऊंचाई पर ह짻�। 

Topic:­ Home Science
1)

Question Stimulus :­

Kinesics is the study of?

काईन耂ेसस 耂कस 耂श☀分ा का सचंार ह짻�?

Non­Verbal communication/ गरै मौ耂खक सचंार

Verbal communication/ मौ耂खक सचंार
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Movement/ ग耂त耂व耂ध

Body language/ शार鋽ᘂ耂रक भाषा

Correct Answer :­Movement/ ग耂त耂व耂ध 

2)

Question Stimulus :­

Black board can be included in which category of teaching aids?

पढ़ान ेहते ु⠀쀃याम पट 耂कस 퇿ꈅणेी म鯼� आता ह?ै

Audio aids/ 頄调य साम鐅ी

Visual Aids/ 頄⠀쀃 य साम鐅ी

Audio visual aids/ 頄调य –頄⠀쀃 य साम鐅ी 

None of these/ उपरोȅत म鯼� स ेकोई नह鋽ᘂं

Correct Answer :­Visual Aids/ 頄⠀쀃 य साम鐅ी 

3)

Question Stimulus :­

Home science teacher behavior ought to be?

गहृ 耂व栆ान के 耂श☀分क का 调यवहार कैसा होना चा耂हए?

Administrative/ 찄शास耂नक

Instructive/ 찄耂श☀分耂णक

Idealistic/ आदश᣽�वाद鋽ᘂ

Directive/ 耂नद櫼�耂शक

Correct Answer :­Idealistic/ आदश᣽�वाद鋽ᘂ 

4)

Question Stimulus :­

Which of the following is related with teaching skill?
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इनम鯼� स ेकौनसा कौशल 耂श☀分ा के 耂लय ेबहेतर होता ह?ै

Black board writing/ ⠀쀃 यामपट पर 耂लखना

Solving question/ 찄⠀쀃 न हल करना

Asking question/ 찄⠀쀃 न पछूना

All of these/ उपरोȅ त सभी

Correct Answer :­All of these/ उपरोȅ त सभी 

5)

Question Stimulus :­

Which organization looks after the credit needs of rural development of India?

कौनसा सगंठन भारत के 鐅ामीण 耂वकास के 耂लए ऋण क鋼ᘂ आव⠀쀃 यकता दतेा ह짻� ?

FCI/ एफ.सी.आई.

IDBI/ आई.डी.बी.आई   

ICAR/ आई.सी.ए.आर 

NABARD/ नाबाड᣽�

Correct Answer :­NABARD/ नाबाड᣽� 

6)

Question Stimulus :­

Men currently outnumbered than women in ___ programmer?

म耂हलाओ ंस ेप㠅ुष 耂कस 찄ो鐅ाम म鯼� अ调वल न頄बर होत ेह짻� ?

Doctoral/ डॉȅ टर

Education/ 耂श☀分क

Health field / 頄 वा頄 थय ☀分ञे

Phycology/ मनोव栆ैा耂नक

Correct Answer :­Doctoral/ डॉȅ टर 
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7)

Question Stimulus :­

The term masculinity and femininity are most closely linked

मरदागंी एव ंऔरतपन एक दसूर ेस े耂नकटता ........जड़ु ेह짻� ?

Sex/ 耂लगं

Patriarchy / प頄ुष 찄धान

Gender/ 耂लगं

None of these/ उपरोȅत म鯼� स ेकोई नह鋽ᘂं

Correct Answer :­Gender/ 耂लगं 

8)

Question Stimulus :­

According to whom

 “Values are the vehicles and goals are the highways you use to attain your desired quality of

 life”­

यह कथन 耂कस का ह ै“म頄ू य वाहक ह ैतो ल☀찄 य राजमाग᣽� ह ैिजस ेआप इि戄छत 찄कार का जीवन 찄ा调 त करने

के 耂लयइे頄 तमेाल करत ेह”ै­

B.B. Swanson / बी.बी. 頄 वानसन

Kotzin /कोटिजन

Rajmal P. Devdas /राजमल पी. दवेदास

Nickell and Dersey/ 耂नकेल एव ंडॉसῡ怠

Correct Answer :­Nickell and Dersey/ 耂नकेल एव ंडॉसῡ怠 

9)

Question Stimulus :­

HDI is entrusted with references to?
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HDI को 耂कस सदंभ᣽� म鯼� सौपा जाता ह짻� ?

Morbidity/ रोग स氅ं या

Infant Mortality/ 耂शश ुम萃ृ यु

Life expectancy at birth/ जीवन क鋼ᘂ उ頄 मीद

Real GDP/ per capita/ उ耂चत जी.डी.पी/찄耂त इकाई

Correct Answer :­Morbidity/ रोग स氅ं या 

10)

Question Stimulus :­

When was community development programme started?

समदुाय 耂वकास 찄ो鐅ाम क鋼ᘂ श㠅ुवात कब हईु थी ?

1954

1952

1953

1955

Correct Answer :­1952 

11)

Question Stimulus :­

Which of the following treatments are offered by residential rehabilitation centers?

आवासीय पनुवा᣽�स केⰄ頄ो म鯼� इनम鯼� स े耂कसका उपचार 耂कया जाता ह짻� ?

Group work/ समहू काय᣽�

Psychological invention/ मनोव栆ैा耂नकता

Social skill training/ सामािजक कौशल 찄耂श☀分ण

All of these/ उपरोȅ त सभी

Correct Answer :­All of these/ उपरोȅ त सभी 

12)
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Question Stimulus :­

According to the poll conducted by Thomson Reuters in 2011 at what rank India stands?

2011 म鯼� थॉमस रयटूर 頄वारा सचंा耂लत 耂कय ेगय ेमतदान म鯼� भारत का कौन सा 頄थान रहा?

Second/ दसूरा

Third/तीसरा

Fourth/ चौथा

Fifth/ पॉचंवा

Correct Answer :­Fourth/ चौथा 

13)

Question Stimulus :­

Which of the following is a multimedia learning process?

耂न頄न म鯼� स ेकौनसी म頄ट鋽ᘂमी耂डया 栆ान क鋼ᘂ 찄耂䈆या ह짻� ?

Video/ वी耂डयो

Image/ 耂च阄

Animation/ ऐनीमशेन

All of these/ उपरोȅ त सभी

Correct Answer :­All of these/ उपरोȅ त सभी 

14)

Question Stimulus :­

A ................ is a teaching aid by which we give information, as words or numbers, on either or both sides.
It can bear vocabulary, historical dates, formulas or any subject matter that can be learned via a question
and answer format.

..................अⰀ戄यापन का साधन ह짻� िजसस ेहम जानकार鋽ᘂ दते ेह짻�। यह श调द쿾ᘂ म鯼� या अकंो म鯼�, एक तरफ या दोनो
तरफ हो सकती ह짻�। इसम鯼� श调दावल鋽ᘂ, ऐतीहा耂सक तार鋽ᘂख,े स阄ू या अⰄय 耂वषय साम鐅ी िजस े찄调न एव ंउ萃तर से
सीखा जा सके।

Blackboard/ 调 लकेबोड᣽�
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Flashcard/ ȅ लशै काड᣽�

Leaflet/ ल鋽ᘂफलटे

Pamphlet/ प頄 पलटे

Correct Answer :­Flashcard/ ȅ लशै काड᣽� 

15)

Question Stimulus :­

Pictures, posters, display and activity are which type of non­projected aids?

耂च阄, पो頄टस᣽�, 耂ड頄调ल ेएव ं耂䈆या कलाप 耂कस 찄कार के नॉन 찄ोजȅेटडे साधन ह짻� ?

Audio/퇿ꈅाव​्य

Display/耂ड頄 调 ले

Graphic/ 鐅ा耂फक

Activity/ ग耂त耂व耂ध

Correct Answer :­Graphic/ 鐅ा耂फक 

16)

Question Stimulus :­

A ............... is made from rough textured cloth which is hung or supported almost vertically. Figures,
words, and symbols cut from cardboard, which are backed with similar cloth or sandpaper, are attached
to it.

.......एक खरुदरु ेपोत के व頄阄 स ेबनाया जाता ह짻� िजस ेल頄बाई म鯼� टागंा जाता ह।ै 耂च阄, श调द और 耂चⰄह쿾ᘂ का
काड᣽�बोड᣽� पर काटा जाता ह짻� और इसके पीछ े耂मलता हआु कपड़ा या रगेमाल (स짻�ड पपेर) लगाया जाता ह ै?

Flip chart/ िȅलप चाट᣽�

Flannel graph/ ȅ लनैाल 鐅ाफ

Poster/ पो頄 टर

Brochure/ 찄ोसर

Correct Answer :­Flannel graph/ ȅ लनैाल 鐅ाफ 
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17)

Question Stimulus :­

What is the world’s major textile fiber?

 

耂व⠀쀃 व का मजेर व頄阄 ततं ुȅया ह?ै

 Cotton/ सतू

Wool/ऊन

Linen/耂ल耂नन

Spandex/㠅पⰄे戄ȅेस

Correct Answer :­ Cotton/ सतू 

18)

Question Stimulus :­

One of the methods of resolving conflicts during decision making­

耂नण᣽�य 찄耂䈆या के दौरान झगड़ े(頄वदं) सलुझान ेसलुझान ेका एक तर鋽ᘂका ह­ै

Determining the course of action /耂䈆या क鋼ᘂ 耂दशा का 耂नधा᣽�रण करना

Compromise /समझौता

Identifying the real Problem / वास​्त耂वक समस​्या को समझना

Seeking the facts/ तत​्य쿾ᘂ को खोजना

Correct Answer :­Compromise /समझौता 

19)

Question Stimulus :­

In which place, the private area should be located in land scapping­

भ耂ूम 頄 थल सȅ जा म鯼� 调 यिȅतगत ☀分ञे 耂कस 頄 थान पर होना चा耂हए­

Roadside /सड़क क鋼ᘂ ओर
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Behind the house /मकान के पीछ ेक鋼ᘂ ओर

Under shady area /छायादार स​्थान पर

Anywhere / कह鋽ᘂ ंभी

Correct Answer :­Behind the house /मकान के पीछ ेक鋼ᘂ ओर 

20)

Question Stimulus :­

In which step of money management Budget comes–

बजट धन 调 यव頄 थापन के 耂कस चरण म鯼� आता ह?ै

Evaluation/मलू​्याकंन

Controlling/ 耂नयञंण

Planning /耂नयोजन

All of these/ उपरोȅत सभी

Correct Answer :­Planning /耂नयोजन 

21)

Question Stimulus :­

Which form of Communication user puppets?

सचंार का कौन सा 頄 वⰄ प म鯼� कठपतुल鋽ᘂय쿾ᘂ का उपयोग होता ह?ै

Indian Folk /भारतीय लोक

Modern Folk/माड᣽�न लोक

Cultural Folk /सासं​्क़耂तक लोक

Historical Folk / ऐ耂तहा耂सक लोक

Correct Answer :­Cultural Folk /सासं​्क़耂तक लोक 

22)

Question Stimulus :­
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Charts are

चा頄᣽�स ह­ै

One dimensional Graphic Aid /एक आयामी 鐅耂फक साम鐅ी है

Two dimensional Graphic Aid /頄耂व आयामी 鐅耂फक साम鐅ी है

Three dimensional Graphic Aid /耂ञआयामी 鐅耂फक साम鐅ी है

None of these / उपरोक​्त म鯼� स ेकोई नह鋽ᘂं

Correct Answer :­Two dimensional Graphic Aid /頄耂व आयामी 鐅耂फक साम鐅ी ह ै

23)

Question Stimulus :­

The most important step in program planning is­

         काय᣽�䈆म 耂नयोजन का सब स ेआव⠀쀃 यक चरण ह­ै

Planning/耂नयोजन

Execution /काया᣽�न​्वयन

Supervision /耂नद櫼�शन

Evaluation/ मलू​्याकंन

Correct Answer :­Planning/耂नयोजन 

24)

Question Stimulus :­

Which of the following fiber is the most difficult to dye?

耂न頄न म鯼� स ेकौन सा रशेा सबस ेक耂ठनाई स ेडाई होता ह?ै

Cotton/ सतू

Nylon/ नायलान

Polyester/ पो耂ल頄टर

Viscose Rayon/ 耂व頄कस रयेान
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Correct Answer :­Polyester/ पो耂ल頄टर 

25)

Question Stimulus :­

Which of the following properties of Synthetic fabrics has been enhanced by the introduction of
Micro fibers?

耂न頄न म鯼� कौन सी 耂वशषेता कृ耂阄म व頄阄 म鯼� माइ䈆ो रशेा के 耂मलान ेपर बढ़ाई जाती ह?ै

Abrasion Resistance/ ए찄ंशेन 찄耂तरोधकता

Dimensional Stability/ 耂व耂म萃तीय ि頄थरता

Drapability/ 戄पे耂ेबल鋽ᘂट鋽ᘂ

Heat Resistance/ऊ调मा 찄耂तरोधकता

Correct Answer :­Drapability/ 戄पे耂ेबल鋽ᘂट鋽ᘂ 

26)

Question Stimulus :­

Linen is the fabric of:

耂लनने 耂कसका दसूरा नाम ह?ै

Cotton/ सतू

Flax/ ȅलȅेस

rayon/ रयेान

Kapok/ कपोक

Correct Answer :­Flax/ ȅलȅेस 

27)

Question Stimulus :­

For which of the following ‘Van Heusen’ is the example of the brand name?

 

‘Van Heusen’ 耂कसके 찄ाडँ नाम का उदाहरण ह?ै
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Jeans/ जीⰄस

Women Shirts/ वमून शट᣽�

Suits/ सटू

Men’s Shirts/ मने शट᣽�

Correct Answer :­Men’s Shirts/ मने शट᣽� 

28)

Question Stimulus :­

Which type of fastening is introduced on sportswear and industrial garments.

耂कस 찄कार क鋼ᘂ ’फोि頄ट耂नग’ं 頄पोट᣽� एव ंउ頄योग के कपड़쿾ᘂ म鯼� क鋼ᘂ जाती ह?ै

Hook & Eye/ हकु एव ंआई

Button & Button hole/ बटन एव ंबटन होल

Velcro/ व頄े䈆ो

Snap Fasteners/頄नपे फा頄टन᣽�स

Correct Answer :­Snap Fasteners/頄नपे फा頄टन᣽�स 

29)

Question Stimulus :­

Which measurement is added to the patterns and line of comfort?

वह कौन सा माप ह ैजो पटेन᣽� और आराम क鋼ᘂ लाइन म鯼� जोड़ा जाता ह?ै

Test fit/ ट頄ेट 耂फट

Ease/ईज

Figure balance/ 耂फगर बले鯼�स

Fabric balance/ फे耂찄क बले鯼�स

Correct Answer :­Ease/ईज 

30)
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Question Stimulus :­

In community development, work is based on­

सामदुा耂यक 耂वकास म鯼� काय᣽� 耂कसप ेआधा耂रत होता ह­ै

Felt needs  /चाह鋽ᘂ गयी आव⠀쀃 यकताय鯼�

Subject matter Specialists/耂वषय 耂वशषे栆

Decision of Government /सरकार के 耂नण᣽�य पर

None of the above / उपरोक​्त म鯼� स ेकोई नह鋽ᘂं

Correct Answer :­Felt needs  /चाह鋽ᘂ गयी आव⠀쀃 यकताय鯼� 

31)

Question Stimulus :­

Plasma membrane is composed of?

调लाȅमा 耂झ頄ल鋽ᘂ 耂कसस ेबनी है

Protein/ 찄ोट鋽ᘂन

Lipids/ 耂ल耂पड

Cellulose/ स頄े यलूोज

Proteins and Lipids/ 찄ोट鋽ᘂन एव ं耂ल耂पड

Correct Answer :­Proteins and Lipids/ 찄ोट鋽ᘂन एव ं耂ल耂पड 

32)

Question Stimulus :­

Blood is classified as what type of tissue?

रȅत को 耂कस ऊतक म鯼� वगῡ怠कृत 耂कया जाता ह?ै

Neuroses/ त耂ं阄का

Epithelial/ उपकला

Muscle/ पशेीय



10/19/2015 localhost:61852

http://localhost:61852/ 58/84

Connective/ सयंोजी

Correct Answer :­Connective/ सयंोजी 

33)

Question Stimulus :­

The ……….. has the thickest wall as it pumps blood to the system circuit.

..... क鋼ᘂ सबस ेमोट鋽ᘂ द鋽ᘂवार होती ह ैȅय쿾ᘂ耂क यह रȅत को 찄णाल鋽ᘂब氅 सरंचना म鯼� पपं करता है

Right atrium/ दॉयंा अ耂लदं

Right ventricle/ दॉयंा 耂नलय

Left atrium/ बॉयंा 耂नलय

Left ventricle/ बॉयंा 耂नलय

Correct Answer :­Left ventricle/ बॉयंा 耂नलय 

34)

Question Stimulus :­

What is the correct arrangement of the three sections of small intestine?

छोट鋽ᘂ ऑतं के ऊपर स ेनीच ेतक के तीन भाग कौन स ेह?ै

Ileum, Duodenum and Jejunum/ शषेा阄ं, पȅवाशय, मⰀ戄या阄ं

Duodenum, Jejunum and Ileum/ पȅवाशय, मⰀ戄या阄ं, शषेा阄ं

Jejunum, Ileum and Duodenum/ शषेा阄ं, मⰀ戄या阄ं,  पȅवाशय

Duodenum, Ileum and Jejunum/ पȅवाशय, शषेा阄ं, मⰀ戄या阄ं

Correct Answer :­Duodenum, Jejunum and Ileum/ पȅवाशय, मⰀ戄या阄ं, शषेा阄ं 

35)

Question Stimulus :­

Which of the following causes Cyanocobalamin deficiency?

साइनोकोबॉल एमीन क鋼ᘂ कमी 耂कसका कारण ह?ै
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Pernicious anemia/ पारनी耂शयस एनी耂मया

Microcytic anemia/ माइ䈆ोसाइ耂टक एनी耂मया

Macrocytic anemia/ म䈆ेोसाइ耂टक एनी耂मया

Pellagra/ पले鐅ेा

Correct Answer :­Pernicious anemia/ पारनी耂शयस एनी耂मया 

36)

Question Stimulus :­

Which one of the following is correctly matched?

耂न頄न म ेस ेकौन सा सह鋽ᘂ 耂मलान ह?ै

Vitamin E – Tocopherol/ 耂वटा耂मन ई - टोको耂फरॉल

Vitamin D – Riboflavin/ 耂वटा耂मन डῡ怠 - राइबोȅल耂ेपन

Vitamin B – Calciferol/ 耂वटा耂मन बी - के頄सी耂फराल

Vitamin A – Thiamin/ 耂वटा耂मन ए - थाय耂मन

Correct Answer :­Vitamin E – Tocopherol/ 耂वटा耂मन ई - टोको耂फरॉल 

37)

Question Stimulus :­

Which of the following is a limiting amino acid in pulses?

दाल쿾ᘂ म鯼� कौन सा अमीनो अ頄ल नह鋽ᘂ होता ह?ै

Leucina/ 頄 य耂ूसन

Lysina/ लाय耂सन

Methionine/ 耂म㘀戄 यो耂नन

Glutaneino/ 쀃 ल耂ूमन

Correct Answer :­Methionine/ 耂म㘀戄 यो耂नन 

38)
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Question Stimulus :­

Which blood vessel transport nutrients from the small intestine to liver?

कौन सी रȅत वा耂हनी छोट鋽ᘂ आतँ स ेयकृत क鋼ᘂ और पोषक त萃व का वहन करती ह?ै

Cephalic vein/ याकृत धमनी

Renal artery/ वȅृ क धमनी

Hepatic portal artery/ याकृत 찄耂तहा耂रणी धमनी

Hepatic portal vein/ यकृत 찄耂तहा耂रणी 耂शरा

Correct Answer :­Hepatic portal vein/ यकृत 찄耂तहा耂रणी 耂शरा 

39)

Question Stimulus :­

Which of the following types of food may reduce the risk of colon cancer?

耂न頄न म鯼� स ेकौन स े 찄कार के भोȅय पदाथ᣽� बड़ी आतँ के क鯼�सर के 耂र⠀쀃 क को कम करत ेह?ै

Simple Carbohydrate/ साधारण काब郾ᘂहाइ戄टे

Poly unsaturated fats/ पोल鋽ᘂ असतं调ृ त वसा

Fiber/ रशेे

 Protein/찄ोट鋽ᘂन

Correct Answer :­Fiber/ रशे े

40)

Question Stimulus :­

Urea is used for which of the following purpose in printing Paster?­  

छपाई के प頄े ट म鯼� य耂ूरया का उपयोग 耂न頄 न म鯼� स े耂कस उ頄⠀쀃 य के 耂लय ेहोता ह­ै

as a catalyst / उत​्찄रेक के 頄प म鯼�

as a dye/रजंक के 頄प म鯼�

as a hydroscopic agent / नयी सोखन ेवाल ेपदाथ᣽� के 頄प म鯼�
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as a defoaming agent / झाग या फेम र耂हत करन ेवाल ेपदाथ᣽� के 頄प म鯼�

Correct Answer :­as a hydroscopic agent / नयी सोखन ेवाल ेपदाथ᣽� के 頄प म鯼� 

41)

Question Stimulus :­

Which of the following macro nutrients is needed for the construction of bones and teeth?

耂न頄न म鯼� स ेकौन सा पोषक त萃व ह戄डी एव ंदॉतं쿾ᘂ के 耂नमा᣽�ण म鯼� आव⠀쀃 यक ह?ै

Sodium/ सो耂डयम

Magnesium/ म쀃ै नी耂शयम

Potassium/ पोट耂ेशयम

Calcium/ कैि頄शयम

Correct Answer :­Calcium/ कैि頄शयम 

42)

Question Stimulus :­

Which of the following diseases spreads through respiratory route?

耂न頄न म鯼� स ेकौनसी 耂बमार鋽ᘂ फैपड़ो के 頄वारा फैलती ह?ै

Influenza/ इनȅ लऐूⰄं जा

Mumps/ थ頄 调 स (गलासएु)

Measles/ छोट鋽ᘂ माता

All of these/ उपरोȅ त सभी

Correct Answer :­All of these/ उपरोȅ त सभी 

43)

Question Stimulus :­

Which of the following white blood cells act as scavengers when they engulf and digest pathogens?

耂न頄न म鯼� स ेकौनसी ⠀쀃वते रȅत क耂णकाए,ं कूड़ा करकर साफ करन ेवाल ेके समान काय᣽� करती ह ैजब व ेक耂णकाओं
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का भ☀分ण एव ंपाचन करती ह?ै

Macrophages/ म䈆ेो फेजसे

T cells/ ट鋽ᘂ. स頄े स

B cells/ बी स頄े स

Lymphocytes/ 耂ल頄 फोसाईट

Correct Answer :­Macrophages/ म䈆ेो फेजसे 

44)

Question Stimulus :­

Which of the following regulates glycolysis steps?

耂न頄न म鯼� स ेकौन 쀃लाइको耂ल耂सस 찄耂कया को 耂नय耂ं阄त करत ेह?ै

Phospho fructo kinase/ फा頄 फो䈆ȅ टोकाईनजे

Hexokinase/ हȅे सोकाईनजे

Pyruvatekinase/ पाईⰄ वटे काईनजे

All of these/ उपरोȅ त सभी

Correct Answer :­All of these/ उपरोȅ त सभी 

45)

Question Stimulus :­

How many calories are there in skim milk exchange?

ि頄कम 耂म頄क 耂व耂नमय म鯼� 耂कतनी कैलोर鋽ᘂ ह짻�?

60 k cal/ 60 耂कलो कैलोर鋽ᘂ

90 k cal/ 90 耂कलो कैलोर鋽ᘂ

120 k cal/ 120 耂कलो कैलोर鋽ᘂ

150 k cal/ 50 耂कलो कैलोर鋽ᘂ

Correct Answer :­90 k cal/ 90 耂कलो कैलोर鋽ᘂ 
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46)

Question Stimulus :­

The concept of low energy dense food is based on?

कम ऊजा᣽� वाल ेभोȅय पदाथ᣽� 耂कस अवधारणा पर 耂न耂हत ह짻�?

Consuming very few calories each day to speed up weight loss/ रोज बहतु कम कैलोर鋽ᘂ का सवेन, वनज
कम करन ेक鋼ᘂ जा耂त को बढ़ान ेम鯼�।

Avoiding any food with dietary fiber since is not digested and absorbed therefore does not provide
any nutrients to the body/

ऐस ेभोȅय पदाथ᣽� जो रषेेुयȅुत ह쿾ᘂ उनस ेबचाव ȅय쿾ᘂ耂क व ेउनका पाचन एव ंशोषण नह鋽ᘂ होता एव ंव ेकोई
पोषक त萃व शर鋽ᘂर को नह鋽ᘂ दते ेह짻�।

Eating foods that weight a lot but contributes few calories/ ऐस ेभोȅय पदाथ᣽� को सवेन जो भार म鯼�
अ耂धक ह쿾ᘂ ल耂ेकन कम ऊजा᣽� हो।

Limiting fluid intake to prevent water retention in the body/ सरल पदाथ濾ᘂ का कम सवेन ȅय쿾ᘂ耂क वे
पानी का जमाव शर鋽ᘂर म鯼� करत ेह짻�।

Correct Answer :­Eating foods that weight a lot but contributes few calories/ ऐस ेभोȅय पदाथ᣽� को सवेन
जो भार म鯼� अ耂धक ह쿾ᘂ ल耂ेकन कम ऊजा᣽� हो। 

47)

Question Stimulus :­

Enriched grains do not have which of the following substance added back?

耂न頄न म鯼� स ेकौनसा पोषक त萃व, एन耂र戄ड 鐅Ⰴेस (अनाज쿾ᘂ) म鯼� पनुः जोड़ा नह鋽ᘂ जाता ह?ै

Niacin/ नाय耂सन

Iron/ लौह लवण

Fibre/ रशेे

Thiamine/ थाय耂मन

Correct Answer :­Fibre/ रशे े

48)



10/19/2015 localhost:61852

http://localhost:61852/ 64/84

Question Stimulus :­

The fovea centralis is responsible for?

调लोवा सⰄे頄耂ेलस 耂कस के 耂लए कारक ह?ै

Glaucoma/ 쀃 लकूोआ

Accommodation/ समȅं य

Blindness/ अधंापन

Acute vision/ ञी찄 頄ि调ट

Correct Answer :­Acute vision/ ञी찄 頄ि调ट 

49)

Question Stimulus :­

Chewing gum, yawning and swallowing in elevators and airplanes help to move air through the
……………… which equalizes the air pressure upon ascent and descent?

戄यइूगंम, ज頄हाई लनेा, एव ं耂नगलना हवाईजहाज एव ंऐ耂लबटेर म鯼� जात ेसमय हवा के बहाव को ----- म鯼� स ेजान ेसे
मदद करत ेह짻�, िजसस ेहवा का दवाव उपर एव ंनीच ेसमान रहता ह?ै

Optic/ ऑि頄टक

Tympanic/ 耂ट頄 प耂ेनक (कण᣽�पटक)

Cochear/ कॉिȅलया

Eustachian tube/ कंठ कण᣽� नल鋽ᘂ

Correct Answer :­Eustachian tube/ कंठ कण᣽� नल鋽ᘂ 

50)

Question Stimulus :­

The third trimester is the main time of storage of

गभा᣽�व頄था के तीसर े頄ाइम頄ेटर क鋼ᘂ अव頄था म鯼� 耂कस का स鐅ंह है

Iron, Fat and Calcium/ लोहा, वसा, एव ंकैि頄शयम

Iron, Calcium and Folate/ लोहा, कैि頄शयम एव ंफॅलटे
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Vitamin D, Vitamin K and Fat/ 耂वटा耂मन डी, 耂वटा耂मन के एव ंवसा

Fat, Calcium and Folate/ वसा, कैि頄शयम फॉलटे

Correct Answer :­Iron, Fat and Calcium/ लोहा, वसा, एव ंकैि頄शयम 

51)

Question Stimulus :­

The “physiological anemia of pregnancy” is a result of a(n)?

गभा᣽�व頄था म鯼� शार鋽ᘂ耂रक रȅत क鋼ᘂ कमी 耂कस कारण होती ह?ै

Increase in mother’s blood volume/ माता म鯼� शा耂र耂रक रȅत क鋼ᘂ मा阄ा बढ़ाना

Decrease in mother’s iron absorption/ माता के शर鋽ᘂर म鯼� लौह ेका अवशोषण कम होना।

Decrease in mother’s water consumption/ माता 頄वारा पानी क鋼ᘂ मा阄ा ȅयादा 鐅हण करना

Decrease in mother’s red blood cell production/ माता के रȅत म鯼� लाल रȅत क耂णकाओ ंका उ萃पादन
कम करना।

Correct Answer :­Increase in mother’s blood volume/ माता म鯼� शा耂र耂रक रȅत क鋼ᘂ मा阄ा बढ़ाना 

52)

Question Stimulus :­

Serum Sodium concentration is regulated by?

रȅत के सो耂डयम क鋼ᘂ मा阄ा 耂कसके 頄वारा 耂नय耂ं阄त होती ह?ै

Stimulation of thirst/ 调यास क鋼ᘂ उ萃तजेना से

Secretion of ADH/ एडीएच के �ावण से

Renin angiotensin aldosterone system/ र耂ेनन एⰄजीओय耂ेसन ए頄डो頄टरेाल 찄णाल鋽ᘂ से

All of these/ उपरोȅ त सभी

Correct Answer :­All of these/ उपरोȅ त सभी 

53)

Question Stimulus :­

All except one are appetite stimulating hormone?
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耂न頄न म鯼� स ेएक को छोड़कर सभी भखू उ萃तिेजत करन ेवाल ेहाम郾ᘂन ह?ै

Leptin/ लिे调टन

Peptide/ प调े टाइड वाय वाय

Glucagon / 쀃 लकूेगॉन

Ghrelin/ हा耂ल᣽�न

Correct Answer :­Glucagon / 쀃 लकूेगॉन 

54)

Question Stimulus :­

All except one are true about the significance of dietary fibre

耂न頄न म鯼� स ेएक को छोड़कर सभी आहार鋽ᘂय रषे ेके 耂लय ेस萃य है

It promotes paristalsin/ यह प耂ेर頄टा耂सस को कम करता ह।ै

Reduces cholesterol absorption/ कॉल頄े頄ाल के शोषण को कम करता ह।ै

Increases glycaemic index/ 쀃लाइ耂स耂मक इⰄडⰄेस को बढ़ाता है

Acts as an antioxidant/ एक ए頄ं鋽ᘂ ऑȅसीड鯼�ट क鋼ᘂ तरह काय᣽� काय᣽� करता ह।ै

Correct Answer :­Increases glycaemic index/ 쀃लाइ耂स耂मक इⰄडⰄेस को बढ़ाता ह ै

55)

Question Stimulus :­

Blood urea nitrogen decreases in all of the following except?

耂न頄न म鯼� स ेसभी रȅत म鯼� य耂ूरया कम रहता ह,ै केवल ................ को छोडकर

Liver cirrhosis/ 耂लवर 耂सरो耂सस

Pregnancy/ गभा᣽�व頄 था

Renal failure/ र鋽ᘂनल (वषृ) का

Malnutrition/ य耂ूरया च䈆
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Correct Answer :­Liver cirrhosis/ 耂लवर 耂सरो耂सस 

56)

Question Stimulus :­

Primary stage of prenatal development is …………

जⰄम पवू᣽� 耂वकास क鋼ᘂ 찄ाथ耂मक अव頄था ................. होती ह।ै

The germinal stage/ अकंुरण अव頄 था

The embryonic stage/ 㴀�णुीय अव頄 था

The fetal stage/ फ鋼ᘂटल 頄टजे

All of these/ उपरोȅ त सभी

Correct Answer :­All of these/ उपरोȅ त सभी 

57)

Question Stimulus :­

What are the developments till/from the embryonic stage?

㴀�णूीय अव頄था (8 स调ताह) म鯼� ...................।

Heart development ends/ 戄दय का 耂वकास समा调त हो जाता ह।ै

Internal organs well developed/ आतं耂रक अगं पणू᣽� 耂वक耂सत हो जात ेह।ै

External sex organs begin to form/ बा戄य सȅेस अगं बनन ेश㠅ु होत ेह।ै

All of these/ उपरोȅत सभी

Correct Answer :­All of these/ उपरोȅत सभी 

58)

Question Stimulus :­

At what age child loves to scribble and sort objects by colour and shape?

................ आय ुका ब戄चा घसीटना और रगं एव ंआकार के अनसुार व頄तओु ंको अलग करना पसदं करता ह।ै

10 to 12 months/ 10 स े12 माह
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12 to 14 months/ 12 स े14 माह

18 to 24 months/ 18 स े24 माह

24 to 30 months/ 24 स े30 माह

Correct Answer :­18 to 24 months/ 18 स े24 माह 

59)

Question Stimulus :­

At what age, a child develops the skill of ball handling and fine eye co­ordination?

बॉल को सभंालना और मह鋽ᘂन आखँ쿾ᘂ का तालमले जसैा हनुर ब戄च ेम鯼� ................. आय ुम鯼� 耂दखाई दतेा ह।ै

2­6 years/ 2-6 वष᣽�

2­l0 years/ 2-10 वष᣽�

2­12 years/ 2-12 वष᣽�

None of these/ उपरोȅत कोई नह鋽ᘂं

Correct Answer :­2­6 years/ 2-6 वष᣽� 

60)

Question Stimulus :­

…………. are involved in the bio chemical change which occur during adolescence.

耂कशोराव頄था के दौरान ........................... म鯼� डौव रासाय耂नक प耂रवत᣽�न होत ेह।ै

Adrenals and gonads/ ऐडर鋽ᘂनस᣽� एव ंगोन戄ैस

Pancreas/ पनै䈆鋼ᘂयास

Androgen/ ऐⰄ戄ोजन

None of these/ उपरोȅत कोई नह鋽ᘂं

Correct Answer :­Adrenals and gonads/ ऐडर鋽ᘂनस᣽� एव ंगोन戄ैस 

61)

Question Stimulus :­
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While of the following phenomena determines the physical characteristics such as height, weight, colour of
eye and skin, sociality of a person?

भौ耂तक 耂वशषेताऐ ंजसै ेल頄बाईए वजन, आखँ쿾ᘂ एव ं萃वचा का रगं सामािजक एव ंबौ耂氅क 调यवहार ........................
स े栆ात होत ेह।ै

Environment/ पया᣽�वरण

Heredity/ वशंान䈆ुम

Personality/ 调 यिȅत萃 व

None of these/ उपरोȅ त कोई नह鋽ᘂं

Correct Answer :­Heredity/ वशंान䈆ुम 

62)

Question Stimulus :­

....... development is the construction of thought processes, including remembering, problem solving, and
decision­making, from childhood through adolescence to adulthood.

............ 耂वकास बा頄याव頄था स े耂कशोराव頄था स े찄ौढ़ता म鯼� 耂चतंन 찄耂䈆याओ ंका 耂नमा᣽�ण ह,ै िजसम鯼� याद रखना,
समाधान का हल 耂नकालना और 耂नण᣽�य लनेा आता ह।ै

Cognitive/ कॉगनी耂टव

Motor/ मोटर

Emotional/ भावना萃मक

Social/ सामािजक

Correct Answer :­Cognitive/ कॉगनी耂टव 

63)

Question Stimulus :­

What is the onset age of puberty in females?

म耂हलाओ ंम鯼� ल짻�耂गक प耂रपȅवता क鋼ᘂ श㠅ुआत ..................... आय ुम鯼� होती ह।ै

9 or 10 year / 9 या 10 वष᣽�

10 or 11 year / 10 या 11 वष᣽�



10/19/2015 localhost:61852

http://localhost:61852/ 70/84

13 or 14 year / 13 या 14 वष᣽�

14 or 15 year/ 14 या 15 वष᣽�

Correct Answer :­10 or 11 year / 10 या 11 वष᣽� 

64)

Question Stimulus :­

Which is the innermost layer of the ovary?

अⰄडाशय क鋼ᘂ सबस ेअदं㠅नी परत को ............................ कहत ेह।ै

Ovarian medulla/ ओविे頄यन म戄ैयलूा

Germinal epithelium/ जन耂मनल ऐपीथी耂लयम

Corona radiate/ कोरोना रडेीऐटा

None of these/ उपरोȅ त कोई नह鋽ᘂं

Correct Answer :­Ovarian medulla/ ओविे頄यन म戄ैयलूा 

65)

Question Stimulus :­

Who has discovered sperms?

श䈆ुाण ुको सव᣽�찄थम सन ्1677 म鯼� .......................... न ेदखेा ?

Laura & Schatten/ लौरा एⰄ ड शहैटैन

Mark Benecke/ माक᣽� बनेकै

Antonie van Leeuwenhoek/ एटंोनी वने ल鋽ᘂयवूनेहोक

Kanaar R/ कनार आर.

Correct Answer :­Antonie van Leeuwenhoek/ एटंोनी वने ल鋽ᘂयवूनेहोक 

66)

Question Stimulus :­

Motor development in children involves the progressive building of ………skills.
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ब戄च쿾ᘂ म鯼� मोटर 耂वकास म鯼� का हनुर ................... सबं耂ंधत ह ै?

Walking / चलने

Cognitive skill/ कौशल क鋼ᘂ अनभु耂ूत

Emotional/ सवंगेा萃 मक

None of these/ उपरोȅ त कोई नह鋽ᘂं

Correct Answer :­Cognitive skill/ कौशल क鋼ᘂ अनभु耂ूत 

67)

Question Stimulus :­

Which factor does not contribute to an increased risk of violence for adolescents?

耂कशोराव頄था म鯼� कौन सा त萃व 耂हसंा के बढ़त ेखतर ेम鯼� योगदान नह鋽ᘂ ंदतेा ह ै?

Gang membership/ ग짻�गम鯼�बर耂शप

Access to firearms/ फायर आम᣽�स्

Poverty/ गर鋽ᘂबी

Minimum pressure/ कम स ेकम दबाव

Correct Answer :­Minimum pressure/ कम स ेकम दबाव 

68)

Question Stimulus :­

Which one of the following is not a symptom of first trimester of pregnancy?

耂न頄न म鯼� स ेकौन सा ल☀分ण गभा᣽�व頄था के 찄थम 阄मैा耂सक का नह鋽ᘂ ंह?ै

Morning sickness/ मॉर耂नगं 耂सकनसे

Craving for particular food/ खास खा頄य पदाथ᣽� क鋼ᘂ इ戄छा

Movement of the baby/ ब戄च ेका घमूना

Sharper sense of smell/गधं क鋼ᘂ तजेी क鋼ᘂ समझ

Correct Answer :­Movement of the baby/ ब戄च ेका घमूना 
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69)

Question Stimulus :­

Which of the following determines the genetic identity of human male?

मन调ुय म鯼� परुव쿾ᘂ क鋼ᘂ पहचान अनवुा耂ंशकता स ेहोती ह짻�?

Cell organelles/ को耂शका ऑरग耂ेनलस

Nucleolus/ यिूȅलओसस

Sex chromosomes/ 耂लगं 䈆ोमोसीमस

Autosomes/ ऑटोसो頄स

Correct Answer :­Sex chromosomes/ 耂लगं 䈆ोमोसीमस 

70)

Question Stimulus :­

Indigo is generally used to dye various shades of­  

         इ耂ंडगो का उपयोग सामाⰄ यत: िⰄ頄न रगं के 耂व耂भⰄ न रोड रगंन ेके 耂लय ेहोता ह­ै

Red Colour / लाल रगं

Yellow colour/पीला रगं

Blue colour  / नीला रगं

grey colour/ 鐅 ेकलर

Correct Answer :­Blue colour  / नीला रगं 

71)

Question Stimulus :­

Adolescents experience health problem due to?

耂कशोरो म鯼� 頄वा頄㘀戄य क鋼ᘂ सम頄या का अनभुव .......कारज स ेहोता ह짻�?

Genetic defect/ अनवुा耂ंशक 耂वकार
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Life style choices/ जीवन शलै鋽ᘂ का चनुाव

Dysfunction/ हारमो耂न᣽�स के काय᣽� म े阄耂ुट

Separation/ अ耂धभावक का अलग होना

Correct Answer :­Life style choices/ जीवन शलै鋽ᘂ का चनुाव 

72)

Question Stimulus :­

Children first few words most commonly refer to:

ब戄च쿾ᘂ म鯼� पहला श调द सामाⰄयतः 耂कस बात को दशा᣽�ता ह짻�?

Time/ समय

Colors/ रगं

Abstract ideas/ सारभतू सझुाव

Concrete objects/ ठोस व頄तऐुं

Correct Answer :­Concrete objects/ ठोस व頄तऐु ं

73)

Question Stimulus :­

Which of following does not play a significance role in the child learning of a language?

ब戄च쿾ᘂ के भाषा 耂वक耂सत होन ेम鯼� इसम鯼� स ेकौन सी बात क鋼ᘂ 찄मखु भ耂ूमका रहती ह짻�?

Imitating an adult speed/ 调य頄क क鋼ᘂ बोल鋽ᘂ क鋼ᘂ नकल

Learning rules sound combination/ सीखन ेके 耂नयम म鯼� Ⰰ戄व耂न 耂म퇿ꈅण

Learning rules for interaction patterns/ सीखन ेके 耂नयम म鯼� 찄भावकार鋽ᘂ पटैन

Learning rules for sentence structure/ सीखन ेके 耂नयम म鯼� श调द쿾ᘂ क鋼ᘂ सरंचना

Correct Answer :­Imitating an adult speed/ 调य頄क क鋼ᘂ बोल鋽ᘂ क鋼ᘂ नकल 

74)

Question Stimulus :­
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Which one of the following is not helpful in cognitive development?

इनम鯼� स ेएक को छोड़कर सभी अनभु耂ूत 耂वकास म鯼� सहायक होत ेह짻�?

Perception. / समझन ेक鋼ᘂ यो쀃यता

Reasoning/ तक᣽� सगंत

Language/ भाषा

Verbal facilities/ मौ耂खक स耂ुवधाएं

Correct Answer :­Reasoning/ तक᣽� सगंत 

75)

Question Stimulus :­

Where was the world summit for social development (WSSD) was held?

耂व⠀쀃व शीष᣽� समाज 耂वकास (ड调頄य.ूएस.एस. डी) माच᣽� 1995 म鯼� कहा आयोिजत हईु थी?

Hague / हगै

Vienna/ 耂वयाना

Copenhagen/ कोपनेहागने

Helsinki/ हले सीनक鋼ᘂ

Correct Answer :­Copenhagen/ कोपनेहागने 

76)

Question Stimulus :­

Piaget reasoned that before the individual can organize and interpret experience they must first
__________

पायगटे का कथन ह ैक鋼ᘂ इसके पहल ेक鋼ᘂ 调यिȅत अपन ेअनभुवो के अथ᣽� को 调यिȅतगत कर ेउस?े

Create schemes/ योजनाओ को बनाना

Intellectualize it/ व耂ृ氅सगंत करना

Represent mutely/ मान耂सकता का 찄耂त耂न萃व
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Receive appropriate tuition/ अतं栆ान को 찄ा调त करना

Correct Answer :­Represent mutely/ मान耂सकता का 찄耂त耂न萃व 

77)

Question Stimulus :­

ECCE is the abbreviation of

ई.सी.सी.ई स耂ं☀分调त ह ै.............. का

Early childhood care and Education/ 찄ारिं頄भक बचपन क鋼ᘂ दखेभाल एव ं耂श☀分ा

Early culture of care and Education/ 찄ारिं頄भक स頄ंकृ耂त क鋼ᘂ दखेभाल एव ं耂श☀分ा

Early childhood compulsory education/ 찄ारिं頄भक बचपन अ耂नवाय᣽� 耂श☀分ा

Early childhood concern and Education. / 찄ारिं頄भक बचपन क鋼ᘂ 耂चतनं एव ं耂श☀分ा

Correct Answer :­Early childhood care and Education/ 찄ारिं頄भक बचपन क鋼ᘂ दखेभाल एव ं耂श☀分ा 

78)

Question Stimulus :­

Which of the following steps are correct in making fabric from raw material?

耂न頄न耂ल耂खत म鯼� स ेक戄च ेमाल स ेव頄阄 बनान ेका सह鋽ᘂ चरण कौन सा ह?ै

Fibre/ तⰄतु

Yarn/ सतू

Fabric/ व頄阄

All of these/ उपरोȅत सभी

Correct Answer :­All of these/ उपरोȅत सभी 

79)

Question Stimulus :­

United State Congress enacted the Textile Fibre Products identification Act which became effective in the
year ………..?

यनूाइटडे 頄टटे का鐅ंसे न ेटȅेसटाइल फाइबर 찄ोडȅ頄स एȅट बनाया जो सन ्.............. म鯼� 찄भावी हआु।
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1960

1962

1966

1970

Correct Answer :­1960 

80)

Question Stimulus :­

Non cellulosic Polymers are………?

नॉन स頄ेयलूो耂सक बहलुक ह?ै

Nylon, rayon/ नायलॉन, रयेॉन

Acetate, acrylic/ ऐसीटटे, ऐिȅलक

Nylon, acrylic/ नायलॉन, ऐिȅलक

None of these/ इनम鯼� स ेकोई नह鋽ᘂ

Correct Answer :­Nylon, acrylic/ नायलॉन, ऐिȅलक 

81)

Question Stimulus :­

Cotton fibre cross section when seen under microscope appears?

माइ䈆ो頄कोप म鯼� कपास का अन찄ु頄थ काट .................. 耂दखाई दतेा ह?ै

Irregular/ असमान

Bean shaped/ राजमा आकार

Triangular/ 耂तकोना

Oval/ अडंाकार

Correct Answer :­Bean shaped/ राजमा आकार 

82)

Question Stimulus :­
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To arrange the fibers in a parallel fashion is termed as.............?

तⰄतओु ंको समानाⰄतर जमान ेको ...................... कहा जाता ह?ै

Combing/ कोि頄बगं

Blending/ 调लिेⰄडगं

Carding/ का耂ड᣽�ग

Drawing/ 戄ा戄ग

Correct Answer :­Carding/ का耂ड᣽�ग 

83)

Question Stimulus :­

In the early l970s, .............. received an Austrian patent for Friction spinning process which was
commercialized under the trademark DREF?

1970 क鋼ᘂ श㠅ुआत म鯼� ......................... 耂䈆☀分न ि頄प耂नगं 찄耂䈆या म鯼� आि頄頄या को पटे鯼�ट 찄ा调त हआु जो DREF
頄डेमाक᣽� के तहत 调यावसा耂यक हआु?

Dr. Ernst Fehrer/ डॉ. एरन頄ेट

Dr. Mc Garry/ डॉ. माक᣽� गरै鋽ᘂ

John W. Mitchell/ जॉन. ड调ल.ू 耂मशलै

Tom Dickens/ टॉम 耂डकेⰄस

Correct Answer :­Dr. Ernst Fehrer/ डॉ. एरन頄ेट 

84)

Question Stimulus :­

Low twist yarn give rise ...........fabric.

कम ऐठन का सतू ......................... व頄阄 बनायगेा।

Soft/ मलुायम

Absorbent/ अवशोषक

Comfortable/ आराम दायक
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Dope dyeing or solution dyeing is ­

dyeing after the filaments are wound/ जो ततंओु ं(耂फलाम鯼�頄स) क鋼ᘂ लपटेन ेके बाद होती है

All of these/ उपरोȅत सभी

Correct Answer :­All of these/ उपरोȅत सभी 

85)

Question Stimulus :­

Denim, Drill, Gabardine and Serge are the examples …………...... of weave.

ड耂ेनम, 耂戄ल, गबैरडीन और सज᣽� ......................... बनुाई के उदाहरण ह।ै

Plain/ साद鋽ᘂ

Crepe/ 䈆ेप

Twill/ 頄耂वल

Pile/ पाईल

Correct Answer :­Twill/ 頄耂वल 

86)

Question Stimulus :­

 

  

       耂वलयन रगंाई वह रगंाई ह­ै

dyeing after the filaments are spun/ जो ततंओु ं(耂फलाम鯼�頄स) क鋼ᘂ कताई के बाद होती है

dyeing before the filaments are spun /जो ततंओु ं(耂फलाम鯼�頄स) क鋼ᘂ कताई के पवू᣽� होती है

 

dyeing after the filaments are woveninto cloths/ जो ततंओु ं(耂फलाम鯼�頄स) के वस​्ञ 頄प म鯼� बन ेजान ेके
बादहोती है

Correct Answer :­dyeing before the filaments are spun /जो ततंओु ं(耂फलाम鯼�頄स) क鋼ᘂ कताई के पवू᣽� होती ह ै

87)

Question Stimulus :­



10/19/2015 localhost:61852

http://localhost:61852/ 79/84

First Synthetic dye was derived in the year ..................?

찄थम कृ耂阄म रजंक सन ्........................ म鯼� 찄ा调त हआु था।

1856

1858

1960

1978

Correct Answer :­1856 

88)

Question Stimulus :­

Indigoids, indigosol, algosol, anthroquinoids and sulphur are the classes of ................ dyes?

इिⰄडगौइस,् इिⰄडगोसोल, ऐलगोसोल, ऐⰄ㴀ꈅोȅयनूौए戄स ........................ रजंक क鋼ᘂ 퇿ꈅणेी ह।ै

Disperse/ 耂ड頄पस᣽�

Reactive/ 耂रऐिȅटव

Vat/ वटै

Developed/ डवेलपड

Correct Answer :­Vat/ वटै 

89)

Question Stimulus :­

A printing machine that utilizes seamless cylindrical screens made of metal foil was originally developed in
...........?

छपाई क鋼ᘂ मशीन िजसम鯼� 耂बना जोड़ के धात ुक鋼ᘂ परत के बलेनाकार 頄䈆鋼ᘂन का उपयोग होता ह,ै
............................. म鯼� 耂वक耂सत क鋼ᘂ गई।

Holland/ हॉलडे

Switzerland/ ि頄वटजरल짻�ड

Rome/ रोग

China/ चीन
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Correct Answer :­Holland/ हॉलडे 

90)

Question Stimulus :­

Wool which comes from sheep twelve to fourteen months old that have not been previously shorn is known
as ........... wool.

वह ऊन जो 12 स े14 मह鋽ᘂन ेक鋼ᘂ भड़े स े찄ा调त होती ह ैिजसस ेपहल ेकभी ऊन नह鋽ᘂ ं耂नकाल鋽ᘂ गई, इस ऊन को
................... कहत ेह।ै

Pulled/ प頄ुड

Hogget/ हौगटे

Cotty / कॉट鋽ᘂ

Weather/ वदेर

Correct Answer :­Hogget/ हौगटे 

91)

Question Stimulus :­

The silk filament is in the form of a double strand of, which is held together by a gummy substance called
sericin?

रशेम का लबंा दोहरा धागा जो सरे鋽ᘂसने नामक पदाथ᣽� स ेजड़ुा रहता ह,ै को ....... कहत ेह?ै

Silk gum/ 耂स頄क ग쿾ᘂद

Latex/ लटेȅेस

Starch / 頄 टाच᣽�

Fibroin/ फाइ찄ॉइन

Correct Answer :­Fibroin/ फाइ찄ॉइन 

92)

Question Stimulus :­

In which screen printing method coating with a sensitizing solution of gelatin dichromate or polyvinyl
alcohol dichromate is used and is dried in dark?
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頄䈆鋼ᘂन छपाई क鋼ᘂ 耂कस 耂व耂ध म鯼� जले耂ेटन डाइ䈆ोमटे या पॉल鋽ᘂ 耂वनाइल अ頄कोहल डाई䈆ोमटे के सनेसीटाइिजगं घोल
क鋼ᘂ परत का उपयोग होता ह ैऔर इस ेअधंरे ेम鯼� सखुाया जाता ह?ै

Proflim/ 찄ा耂फ頄 म

Rotary/ रोटर鋽ᘂ

Photo graphic/ फोटो 鐅ा耂फȅ स

None of these/ इनम鯼� स ेकोई नह鋽ᘂ

Correct Answer :­Photo graphic/ फोटो 鐅ा耂फȅ स 

93)

Question Stimulus :­

Transfer printing is an indirect method of printing in which a sublimable dye is transferred from paper to
a thermoplastic fabric under controlled ...........?

頄ासंफर छपाई एक अ찄萃य☀分 छपाई 耂व耂ध ह ैिजसम鯼� सबल鋽ᘂमवेल रजंक को पपेर स ेथम郾ᘂ调लाि頄टक कपड़ ेपर
耂नय耂ं阄त ...................... पर 頄थानातं耂रत 耂कया जाता ह?ै

Temperature/ ताप

Time/ समय

Pressure/ दबाव

All of these/ उपरोȅ त सभी

Correct Answer :­All of these/ उपरोȅ त सभी 

94)

Question Stimulus :­

The length of blades of Dress makers shear is .......?

戄से मकेर 耂शयर के 调लडे क鋼ᘂ लबंाई ....................... होती ह।ै

6­10 inches/ 6-10 इचं

6­12 inches/ 6­12 इचं

6­ 14 inches/ 6­14 इचं
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None of these/ इनम鯼� स ेकोई नह鋽ᘂ

Correct Answer :­6­12 inches/ 6­12 इचं 

95)

Question Stimulus :­

Which disease is caused by increase of liquid in pleura

调 लरूा म鯼� तरल के बढ़ जान ेस ेकौन सा रोग हो जाता ह­ै

Anaemia / एनी耂मया

Diabetes /डायबट鋽ᘂज (मधमुहे)

Thyroid/ थायराइड

Pleurisy/ प​्लरूसेी

Correct Answer :­Pleurisy/ प​्लरूसेी 

96)

Question Stimulus :­

The main purpose of .......... is to give shape at neckline, armhole, waist, crotch etc.

.......................... का म氅ुय उ頄⠀쀃 य गल,े बगल, कमर, 䈆ॉच आ耂द पर आकार दने ेका होता ह?ै

Tailor’s tacks / टलेर टकैस्

Tailor’s square/ टलेर 頄ȅवयेर

French Curve/ फ鯼�च कव᣽�

Gauge/ गॉज

Correct Answer :­French Curve/ फ鯼�च कव᣽� 

97)

Question Stimulus :­

The richest source of vitamin C is ______­

耂वटा耂मन सी का सबस ेअ戄 छा 頄 ञोत ______ ह।ै       
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Amla / आवंला

Oil/तले

Sugar/ शक​्कर

Tomato / टमाटर

Correct Answer :­Amla / आवंला 

98)

Question Stimulus :­

Which part of a sewing machine is ridged andhe1ps the fabric to move forward while stitching?

耂सलाई मशीन का कौन सा भाग उभरा होता ह ैजो व頄阄 को 耂सलाई के समय आग ेबढ़ाता ह?ै

 Face plate/ फेस 调लटे

Slide plate/ 頄लाईड 调लटे

Pressure foot / 찄सेर फुट

Feed dog/ फ鋼ᘂड डॉग

Correct Answer :­Feed dog/ फ鋼ᘂड डॉग 

99)

Question Stimulus :­

The reason for breaking of lower thread in a sewing machine is ..................?

耂सलाई मशीन म鯼� नीच ेके धाग ेके टूटन ेका कारण ................... होता ह।ै

Bobbin unevenly wound/ बा耂बगं को असमान लपटेना

Bobbin over wound/ बा耂बगं को अ耂धक भरना

Lower tension very tight/ नीच ेका ट鯼�शन ȅयादा कसा होना

All of these/ उपरोȅत सभी

Correct Answer :­All of these/ उपरोȅत सभी 

100)
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Question Stimulus :­

........... fabric resembles cotton , absorb moisture and feels cool, making it suitable for summer wear.

...................... व頄阄 सतूी स े耂मलता ह,ै यह नमी को अवशो耂षत करता ह ैऔर ठंडक 찄दान करता ह,ै गमῡ怠 म鯼�
पहनन ेके 耂लय ेउपयȅुत होता ह।ै

Acrylon/ ए耂䈆लॉन

Mesta/ म頄ेता

Rayon/ रयेॉन

Urena/ यरूनेा

Correct Answer :­Rayon/ रयेॉन 


